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Yug—3
(Section—A)
Y 9T T
(Short Answer Type Questions)
e : wi v afad € Fefaled gl @ SR

oy sl T & w1 § AR TS
5 il BT 2 |
All questions are compulsory. Answer the

following questions as short answer type
questions. Each question carries 5 marks.

1. (A) &iuoﬂweh FIER BT URATT DI |
- Define Organizati_dnal Behaviour.
(B) aifighy @1 aRIfiT i |
Define the term °Attitude’.
(C) AEwRID T1d | MY T FHS & ?
What do you mean by Job Stress ?
(D) g I P A PR
Explain the term ‘Leadership’.
(E) WM Yaw o7 qar 3jf § 7

What is ' meant by Impression
Management ?
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(F) YIoT5 298R A amen #fvr |
Describe defensive behaviour.

(G) WF WMoy aar  ?
What is group cohesiveness ?

(H) “SR-Wf We’ o aman ity |
Explain the term intergroup conflict.

(D) WSS Gl o1 quly DIfT |

What is Organizational Culture ?
' glg—g
(Section—B)
H Iy
(Long Answer Type Questlons)

AT W wve ¥ uR O Sohy me € R
U W A1 R B | 9D 9T 15 i} @7
gl

This section contains four questions from
which one question is to be answered as
long question. Each question carries
15 marks.

/] ﬁ?ﬁwwﬂ@ﬁﬁmmﬂwﬁ%“?
%Qﬁwzﬁmwmmmmﬁsﬁmﬁg@

URecT B @rar PR |

P.T. 0.
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What do you mean by Globalisation and
“Culture ? Elucidate the major changes brought
in  organisational  behaviour due to

globalisation.
T (Or)

W%W@Wﬂ%mmlm
T AN © 7

Explain Fiedler’s contmgency model. What are
its assumptions ?

Jar (Or)

aqﬁﬂwnﬁtrﬁmﬁaa?rmﬁwmﬂzﬁxqar
Rigr o goie & fguce fgid § IRR e
DI |

Define motivation. Differentiate between
McGregor’s theory X and Y and Herzberg’s
two-factor theory.

T (Or)
.Hﬂﬁ?ﬂf%‘*?wmﬂwmﬂﬂﬁa‘»@aﬁ
qHHAIRY |

Briefly explain conflict. What are the sources
of organizational conflict ? Explain.
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gleg—y

(Section—C)
< Y g

(Long Answer Type Questions)
e TR e ¥ IR A sy ww § R @
U@ 0% BTl AR 2 | yee oo 15 @il @
el

This section contains forces questions from
which one question is to be answered as

long question. Each question carries
15 marks.

6. 3 T9E @ e B | e T @
AR~ SR & AT DI |

- Explain industrial tension. Elucidate the

different causes of industrial tensions.

| ' 34T (Or)

7. g ol @ wraw REm @ R
DI | :
Explain Path-goal theory of leadership styles.

2. To0
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M. Com. (First S'emest‘er)
- EXAMINATION, 2022-23
(NEP) |
. ACCOUNTING FOR MANAGERIAL
DECISIONS . -
Time : Two Hours ] [ Maximum Marks : 75
e I ¥ AN w9 ek ‘¥ gl
e @ § affa S @1 gem A Y
VT F @I it @ ey W
-ma@wmﬁawmﬂém
q SRR (B wﬂ) SUCE & IS
EIgiry |

This paper consists of three Sections A, B
and C. Carefully read the instructions of
each Section in solving the question paper.
Candidates have to write their answers in
the given answer-copy only. No' separate
answer-copy (B Copy) will be provided.

P.T.O.

e I Ty e, S W Pt T
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Gre—4
(Section—A)
oY T 9
(Short Answer Type Questions)

de: iy afed ¥ Rl 9 B aw
oY Sy yE @ w9 H <R e g
5 &I BT 8|

All questions are compulsory. Answer the
following questions as short answer type
questions. Each question carries 5 marks.

(A) @G @RV B AT DI | FedE g
U AT 4 e gargy |
Explain the concept of Cost. Iﬁistinguish
between Direct costs and Indirect costs.

(B)amrﬁreajmﬁ@mwmaﬁ%?

for-frr Sewal & forw zwar wamT far o
T & ?

What do you understand by P/V ratio ?

For what different purposes this can be
used ?
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Co107027

zamﬁatrﬁmmmaﬁm%.
o | BT I o
L SPI=RAl
®) )
2010 | 10000 | 80,000 |1,00,000
2011 | 12000 | 90,000 | 1,20,000

SRE SUI T4 2010 9 2011 & forg o qRem
ST ® AR T ST P

Bareilly Furniture House has placed before -

you the following trading results :

Total Cost | Sales
Year Units.
1 |
2010 10000 | 80,000 | 1,00,000 |
2011 | 12000 | 90,000 |1,20,000 | °

Find out margin of safety and profit on the
basis of margin of safety for 2010 and

2011.

.(H) mmm%wm??

What are the benefits of

Costing 2

Activity Based
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('_1) wouE IR @y § ?

What is Direct Costing ?

Grg—q
(Section—B)
< 99 W

(Long Answer Type Questions)
fe: wgd @vs § 9RO T v R

TP U &A1 AR B | 9% W 15 aid} @
gl

This section contains four questions from
which ore question is to be answered as

long question. Each question carries
15 marks.

@ w4 yeer oeil iy aaRiy 3

fawdia 817 i1 S ok e SRR @
SYFRY TR |

“In a sense, Management Accounting presents
a contrast to Financial Accounting.” Discuss

and mention the tools of Management
- Accounting, ' #

P.T.0.



S¥AT (Or)

Co1 0?02T

3. P @ Q Eﬁwﬁl‘sﬂmﬂwawﬁ
Tt 7 o TR 9 R 1 P oy
8| 9ite e =il & .

R P (%) QR
TR W 25,000 10,000
T S 15,000 17,500
Readaeler @ | 10,000 12,500

| ReR =y 25,000 25,000
$l SR (FdEaAn | S00 1000
T T WRY 31 150 60
TFAWATaEEE | 20fme | 12 fme
T AR g 500 I 100 T
I R A e Ry i W ek Ry R
e WG, 3 -

o IS T BRP T B 1
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(i) V90 7= ore ) g7
(ﬁ)mwwma.

There are two Components P and Q. Decision
is being taken to manufacture one of these
components and to buy the other. The
following are the relative particulars :

Particulars PR) | Q@
Direct Material 25,000 10,000
Direct Labour 15,000 17,500
Variable Expenses 10,000 | 12,500
Fixed Expenses 25,000 | 25,000
Total output (units) | * 500 | * Jo00
Buying price p. u. 150 60
Machine time p. u. 20 min. 12 min,
Materialp.u. | 500gms | 100 gms

Give your recommendation as which is to be
bought and which is to be manufactured, if :

(1) There is no key factor or
(i) Material is key factor or

(iii) Machine hour is key factor.

-

P.T.0.
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Present the followmg data in a cost statement

according to Absorption costing and Marginal
costing method :

Product | Product

CA? ‘B?

®) )
Sales | 1,50,000 | 2,40,000
Direct Material 60,000 | 90,000
Direct Labour 36,000 | 45,000
Factory Overhead :
Fixed =~ 24,000 | 15,000
Variable | | 12,000 12,000
Administrative '
Overhead (fixed) 6,000 12,000
Selling Overhead : -
Fixed o 6,000 12,000 -
| Variable 12,000 | 18,000

IRA4T (Or)

5. JEFE Wl I T 280 U T W qov widy
P FT T TIE 198 90 1 3 TP anqiema
¥ T 180 Y P B AN W FE @y w@iey
&1 ST GBI B GARK Y A B aren @y

P.T.O.

LY ia

- — - .y g = .
= . —— el P g il — ———, W . g o e
lt‘l.-m‘-——-——“‘_
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e @R A & R Ry o 7 72,000 8 3

Ry @fs @ 9N T 5 T w7 10 3

YA o § | S

@) RiRa T R 5 SeT-dwr R
forg wity @ fosert ot = anRRy

[ T AR 6 SRR Ry w®
CEARETEIRSTI

() TR Bl € 6 T 54,000 WY 9 g7 o
Foid Y &Y HD [t ot g =l |

Ahmad Khan sells a popular brand of men’s
sports shirts at an average price of ¥ 280 each.
He purchases the shirt from a supplier at a unit
cost of ¥ 180 each. The cost of operating his
shop are all fixed cost and amount to ¥ 72,000
a year. He pays commission to his salesman
@ X 10 for every shirt sold. You are required
to:

(a) Determine as how many shirts must be
sold in a year to break-even.

(b) Compute the sales revenue at the break-
even.

(c) Compute monthly sales revenue to earn a
net profit of ¥ 54,000 per year.
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Yug—y

(Scctiun——C)
U Iy e
(Long Answer Type Questions)

e : WY T AR O sl g § R R
gﬂ?mmaﬁmﬁ%lmmﬁdﬁw
|

This section contains four questions from
which one question is to be answered as
long question. Each question carries
15 marks.

6. TTRGIAT oREIPT W MY T T & 7 ST
& foiyami &1 auiT S |

What do you understand by Responsibility
Accounting ? Discuss its salient features.

YT (Or)
7. feu v sjiwel © fmferRaa @) o IR -
(i) Wl SuEnT R
(i) W feor R
(iii) Tl W S faeRr -
(iv) it Seare faeror

P.T.O.

e e o e s .
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PLIING)
el A ;70 3F9AT @ T 2 Ui SO
At B : 30 §EAl @ T 3 9 SR

100 T
- geifie Scdrad - 100 EGIRR
¢ gD
it A : 80 S@Rdl @ ¥ 3 Ul SOR
al B : 40 30RAT @ X 5 W TOR
Ja® SeTeH ¢ 100 SHGAl
From the following data, calculate :
(i) Material Usage Variance
(ii) Material Mix Variance
(iii) Material Revised Usage Variance
(iv) Material Yield Variance
. ‘Standard
Material A : 70 units @ ¥ 2 per unit
~ Material B : 30 units @ ¥ 3 per unit
100 units

Standard output : 100 units

Actual

Material A : 80 units @ ¥ 3 per unit
Material B : 40 units @ ¥ 5 per unit
Actual output : 100 units
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8. @W-maﬁmwmwm
Wﬁlm%%?emowmmm

fifea g ¢
it 5B
. )

SlGIER! - 50
| o (60% uReatefe) 10

fralt @/ (60% IReeTeie) 10

e g (Rer) 5

fasy q faﬁw g . &

(40% uRaaee)

Bel @RI 80

™ 20

CEDR 100

70% T 100% @E-wR & yeifg a gV
mmmﬁmluﬁaﬁmﬁm%ﬁs
60% FR-WR T ol saTE R e Rem @,
Td AT 90% PH-TR T 5% B A
AT &1 90% B I TS 5% B IRy B Ry
22% B T 1 G R o £ )

P.T.O.
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AT (Or)

0. TRSH foA. 7 2011 ¥ O avqd ey w  Rffa
@ gaur:

e X 1 20000 SHEAT
SR Y : 14000 S
S Z : 10000 SRl

AT favelyor 59 Yo @ - |
ol o1

X Y 7

| T AT () 10 18 [ 16
TR | 20 30 | 40
forr mar W () | 25 | 3.0 2.5

Rer @ma T 2,00,000
ARG B 10%
5 TN D PR e 9 B Rye ST o
(HC 90000 A F| oM A€ B R wugEm
W—ﬁmaﬁm:
@) S W aege @ R gafw w8y
() 5 W T Ser X —18000 SHTE, wayre
Y—10,000 FHEAl, TN SR, Z—12000
TRl B |
P.T.O.

e e . . &




[16] c01070;
 Juridex Ltd. has manufactured and sold thr.
products during 2011 as under
Product X : 20000 units
Product Y : 14000 units
Product Z : 10000 units

Cost analysis is disclosed as under per unit :
X 1Y Z

Marginal Cost ( %) 10 18 16

List Price (%) 20 | 30 40
Time Taken (hours) | 2.5 3.0 2.5

Fixed Cost Z 2,00,000.
Trade Discount 10%.

Due to shortage of labour, the availab
working hours for the next ye

' ar are expected
be only 90,000 hours. ‘Suggest a suitah

production mix for the next year

(2) When. there is enou
- products. '

(b) When potential demand js
18000 units; Product Y-
Product Z-12000 units,

C010702T

gh demand for ¢

Product X
10000 units, ar

3,10
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M. Com. (First Semester)
EXAMINATION, 2022-23

(NEP)
~ STATISTICAL ANALYSIS
Time : Two Hours] [ Maximum Marks : 75

A 39 U A A Evs A, @ SR W E|
Y- B e | SRl @l SRR
dael o1 TS FA-YRADT 4 B 3 8 | PIg 37T
¥ I-qRaer (B #) Sue@ T wwd
LTI |

This paper consists of three Sections A, B
and C. Carefully read the instructions of
each Section in solving the question paper.
~ Candidates have to write their answers in
the given answer-copy only. No separate
answer-copy (B Copy) will be provided.

P 1.0,
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[2] cot0703T
greg—y
(Section—A)
Y ST g
(Short Answer Type Questions)

e Wﬂwwglﬁﬁ%ﬁuﬁ‘rzﬁw
agﬁﬁuuﬁa‘i“ﬁqfrfrﬁﬁmmm
5 3(] P 2 |

All questions are compulsory. Answer the
following questions as short answer type

questions. Each question carries 5 rharks.
(A) T&7% 97 91 yge el @1 o e
Discuss the main characteristics of
Binomial Distributien.

B) Wiwma Y@ &1 @@ B ¥ ? fe
IRRfTE % Bae UE TR YT 8 waal
g?

Why are there two regression lines ?
Under what conditions can these be only

one line ?
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(H)@Wﬁﬁmﬁmm%ﬁﬁaﬁ%

D

i @ 9 mﬁmw%ﬁﬁﬁ#m
7 @ f, 80% A ¥ & ik gsoy
GIRC N B EE I SRR W A FT
wieIT FAEY iy gy IR T @) Ry

In a very hotly fought bait|e 70% at least
of the combatants lost an cye, 75% at least

an ear, 80% at least a leg and 85% at least

an arm. What percentage at least lost all

four organs ?

x Ty A e wewey i
+0.48 &| ITWT WE-RERU A WE-WRW
6 Tl x A PG 16 81y A @
Y {9 S| Bife |

The co-efficient of correlation between x

and y series is + 0.48. Their co-variance 1s

36. The variance of x is 16. Find the

standard deviation of y series.



(5] c010703T

YUg—q
(Section—DB)
o salg wEwm
(Long Answer Type Questions)
e W @vs N ar dd gl ge § R |
@ W el SRt § | s g 15 bl Pl
gl

This section contains four questions from
which one question is to be answered as

~long question. Each question carries
15 marks.

2. WiRiEar & gRMmT AR @ik wilear @ T dRa
vd U W & R EHesy |
Define probability and explain Addition and
Multiplication rules of probability.

34T (Or)

3. MO-EER W @ R B 7 U-EER T
 gE-gE § AR W DI @R U S
Rigrd 9 S9d A0 S WL DI |

What is meant by Association of Attributes ?
Distinguish between association of attributes
and co-relation and explain the theory and
measurement of association of attributes.

P.T. 0.
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C010703T

4 Prefifes @Hel @ JER W T 3G Do b

a@aﬂ?@aﬁﬁmﬁﬁ&mﬁgw_wg
S o @ = | P Reed
15—16 250 200
16—17 2600 150
17—18 150 90
18—19 120 48
+19—20 100 30
20—21 80 12

From the following data, find out is there any

correlation between age and playing habit :

Age | No. of Students | Regular Players
1516 250 200
16—17 200 150
17—18 150 90
18—19 120 48
19—20 100 30
20—21 80 12 _J
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AT (Or)

5. 1,000 WA B HaE @ WR &7 -faxor Ffdd
T

A SUE = 68 39

AT AR = 150 YU

SaE & uY fEe = 25 39
Wﬁwﬁﬂaﬁ = 20 dvs

AR T AR & A e i = + 0.6
¥ BT :

(i) A T

(i) U S D Sag SR 9R 200':{‘113@’%
(iii) W S F1 R e S91E 5 B B |

The following are the details of height and
weight of 1,000 Jawans :

Mean height= 68 inch
Mecan weight = 150 pounds
S. D. of height = 2.5 inch

S. D. of weight =20 pounda

Coefficient of correlation between height and
and weight =+ 0.6



[8] cuiomar \
Find out :
(i) Two fegfession equations
(ii). The heights of a JJéwan whose weight ié
200 pounds
 (iii) The weight of a Jawan whose heights is
5 feet.
Yls—x
-(Section—C)
< ST g
(Long Answer Type Questums)
ke : wga g 3 IR vy e § R
_wmmaﬁ—rﬁﬁlmw 15 3l BT

%‘l

This section contains four questions from
which one question is to be answered as
long question. Each question carries

lSmarll<s.'
6. Mw—ﬁuaw#amwmﬁ%?m |
TEQRl R ol BT fRdEe AT | |
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Whﬂt do you understand by ‘Statistical

Quallty Control> 9 Discuss its aspects and

. advantages.

4T (Or)
M BT R e g g @ oR
PR WP R 6w gk @

Define Sampllﬂg distribution and its standard

error. What is use of standard error in

statistical theory ?

ST (Or)
i @ Rl AT ® P ey @ R 9
STERI x‘ @y B oW e T R
fFfoRaa aRum o 8¢ ¢

Cx @ 400 O @ Sifg @ Y 3R 80 IMRG U@
T |

g o e B















[3] C010704T
Thﬂ formu]a [Q(L,K) — A K LB %* Ka] iS

_rdat'ad with which concept and who

propounded this ?
(E) RAMFRY 7oy fgiRor

Transfer Pricing.

(F) f&8 woR @ qor Refy & sifa ;rﬁwﬁ
FrfEl o) axgal ofR Wl @ forg A
FIED AR & R qou FrfiRor R wHl
& forg wecael wortf & @ ? sawreer wha
e & =@ S|
Under which type of market condition
demand is highly elastic for goods and
services of the competing companies and

pricing is often the key strategy for the

firms ? Explain in brief with illustration,
(G) Sifgd & gt R o S 3R

& aaTa fAor o |

bécision.—malcing under risk vs. Decision-

making under uncertainty.

P.T.O.
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(H) TS 3 AGipd P M |

Limitations of National Income

Accounting.
(1) SR ¥h DI ST [aeIREn |

Modern concept of trade cycle.

Ylg—d
(Section—B)
(Long Answer Type Questions)
Ae: TRE @S § AR <M S ye § o W
| U YT BRAT AR B | YD YT 15 3Dl BT
This section contains four questions from .
which one question is to be answered as
long ~ question. Each question carries
15 marks. .

2 ‘s i e Rigr, Fol Rg ek
AR Y B GHIdRY & |7 fewl DIy |
“Managerial Economics is the integrétion of

economic theory, decision science and business

management.” Comment.
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QT (Or)

8. UM I UPR Bl RIS ol Ye@ifepaq PITg | 3T
HIOR I IR AW & ? Waa § i |
Outline the three main types of unemployment.
Which type of unemployment do you cénsider

most likely to result in hardship for people who

are'ungmployed ? Briefly explain.
2 - 3T (0F)
o, T Rl A wwEn B B 40 aR T,
. figm ok fivge ¥ faax aiffe TRRE A
il SAR-aG D BN & | |

Explain the situation that how recurring
fluctuations in the economic activity consisting
of recession and recovery, growth and decline

occur in the economy.

C010704T 3100
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O.M.R. Serial No,

Question Booklet Number

0238283

M Cpm. .(Second Semester) (NEP)

-E'XAMINATION, 2022-23
FINANCIAL MANAGEMENT
Paper Code . Al e

Clo|1|0|8

Time: 1:30 Hours]

Instructions to the Examixiee :

1.

Do not open the booklet unless you are

“asked to do so.

The booklet contains 100 qi.lestions.

'

‘Examinee is. required to answer 75

questions in the OMR Answer-Sheet
provided and not in the question booklet.
All questions carry equal marks.

Examine the Booklet and the OMR Answer-

- Sheet very carefully before you proceed.

Faulty.question booklet due ‘to missing or
duplicate pages/qulestions or having any
other  discrepancy should be got
immediately replaced.

(Remaining instructions on the last page)

01 T

Series

C

[ Maximum Marks : 75

@ fou fdyr
VIR B 7 T 7 A T T T o
A |
TEIRTT # 100 W ¥ vl B 75 ye
ﬁﬁaﬁ@omam—zﬁewawm
8, TR R T v S s e
gl

wﬁéwﬂ%mﬁﬁﬁm—gﬁﬁwm
OMR 3T-¥le ot WaHigds 3@ o | <ot
g Rt 3B T 9w 4 B e E @
Y T ¥ aRE AR B Ty @ @ e R
&Y ISR BT B! &, A W QR 99 o |

@ frgw I 7o W)



TR Sl 9 RPRIT 7 ey
W T B
Hnmun.nm.?ﬁlﬁeﬂa%ﬂama&_m
T 13,000 :
(A) 8%

(B) 8.5%

(©)  7.75%

(D) 7.50%

T B B 39 B AR e 1 75

IR R 2 10,000, affe e

ITHAE T 1750, AP e
10 79, fARaRYr 95w 7 4,000

(A) 110%

(B) 112%

© 115%

D) Hﬂﬁﬁﬂ}m‘#ﬁ

Co10801T

(3)

From the following information calculate
Return on Investment rate :

Cost T 10,000, Economic life 4 years,
Total eamings (before depreciation after
tax) ¥ 13,000

(A) 8%
(B) 8.5%
(C) 7.75%
(D) 7.50%

Market value of shares of a company is
¥ 75 and book value of the same share is
¥ 50, company is in stage of :

(A) Undercapitalization
(B) Overcapitalization
(C) Fair capitalization

(D) None of the above

From the following information calculate
post pay back profitability index :

Initial investment ¥ 10,000, Annual cash
inflow ¥ 1,750, estimated life. 10 years,
salvage value ¥ 4,000

(A) 110%
B) 112%
(C) 115%
(D) None of the above

Set-C



qeeR Aied @ ITEN U@ WH @1
URE Y W Wt €

(A) I A FTIE A

@) wht 3w g |

© wfteRa ama 3

) ol ot @ 9@

T digd AEar € e emiw A
ST :

(A) W%mﬂmﬁ

®) Wi b e feR vEa 8

(C) WU & & uedr &

(D) IfFafi| SaR-92d are el &

CO10801T

(4)

Capital budgeting process includes -
(A) Project Generation

(B) Project evaluation

(C) Project selection

(D) All of the above

Accord to the Walter model the value of

a firm is directly related to its :

(A) Dividend payout ratio
(B) Eaming Per share
(C) Retained earnings

(D) Cost of capital

The Gordon model assumes that the
dividend payout ratio :

(A) Increases over time

(B) Remains constant over time

(C) Decreases over time

(D) Fluctuates randomly

Sat-C

-l



Tre— — e T

e BUFS. b

D= TRTIY Ti‘i@aﬂﬁm%ﬁhﬁm
apmaﬂ?fiﬁﬂ‘maﬂTiﬁTWmmﬂ

7. Which dividend model assumes that

investors value dividends and capital

5
e ol © ? gains cqually ?
(A) dIeeX Higd
5 - (A) Walter Model
(B) e Wi
. (B) Gordon Model
(C) T UH. Hid
(C) M.M. Model
©) SR F ¥ B T |
P (D) None of the above
8. wnrny wNifad Rigm b
Rinic R 8. The dividend irrelevance theory Was
yearfaa foar T e ? ) proposed by :
(A) HIERT o, e (A) Myron J. Gordon
(B) %ol HiAierarl 3R HicH (B) - Franco Modigliani and Morton
(C) O §. dreic . | (C) James E. Walter
() Soda # § By 7 (D) None of the above

o. e amrafiear g ® IgER, @ 9. According to the dividend irrelevance

theory, the value of the firm is

o 1 e g9 g i far

% ' determined by its :

(A) W Hifd (A) Dividend policy

®) Wi 3w 3 (B) Eamings per share

©) ﬁé\ﬁﬂ A (C) Capital structure

' - (D) None of the above
©) Sudd § 9 BIS TRl |
| (5) Set-C

c010801T

e Pl e —



11.

12.

—E

@) @ TR @ ama @ e
ot & |

@) @ it @ T W B
uSl 8

(© ﬂmfiﬁﬂ'ﬂﬁmﬂﬂﬁﬂﬁlmﬁ
2

@) ¥ gua foft @ 9@

Teex dtew wear & 6 wfoeRa
a:@:[[ﬂ:

(A) T ey Rer w8

(B) WA @ WY q@d & )

(C) w94 @ W °eal €

) v A G o

W, W, Aied @ a0 & f& Feus e
i A A B HE ©

(A) WY B AT D

B) Eie T9= B 49

(©) ﬁ%ﬁmﬂqmﬁﬁrﬁﬂqﬂ
D

D) Iwfw Wi

co10801T

10.

11.

12.

The M. M. model suggests that the
dividend policy of a firm ;

(A) Affects its cost of capital

(B) Has no impact on its cost of capital

(C) Decreases its cost of capital

(D) Increases its cost of capital

The Walter model assumes that the

retention ratio :

.tﬁ) remains constant over time

(B) increases over time
(C) decreases over time
(D) None of the above

The M. M. model argues that investors
can create their desired dividend payout

by :

i
(A) Reinvesting dividend
(B) Selling shares of stock

(C) Issuing new shares of stock

(D) All of the above



13. Wwwﬁmﬁﬁm

2.

(A)

(B)

(©)

D)

14.

ofty afe i @1 AR S S ¥
e 7

s aiw o @ RE T
Renfira. 7
“ﬁ‘WMﬁuﬁra‘nmﬁ
oo

e 7 o R s

frfore T

Wﬁl@ﬁqﬁmg%miﬁﬁaﬂ

AT B 8

(A)

(B)

(©

(D)

C010801T
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13.

14.

The dividend payout ratio !

as:

A)

(B)

(©)

)

s calculated

Dividend per share divided bY

carning per share

Dividend per share divided bY

stock price
Rarnings per share divided
dividends per share

Stock price divided by dividends

: PEI‘share

The Walter model assumes the cost of

equity capital is :

(A) Constant

(B) Increasing

(C) Decreasi ng

(D) Unprcdjcmhl e



Js.méﬂﬂ‘fmaﬁmﬂmnﬁmﬁa
2

(a) fefagwe 19 ¥
@) ffidue diee

© @ (A) IR (B)
() Suiw d ¥ B T

6. @ HE @ amm fu wnfa g
:

(A) gl
(B) ﬁm$mﬁ
(C) o B SuwE |
D) ST
17. W.@.ﬁsa%wm%ﬁaﬁw
mmﬂﬁ'ﬁmﬁi:r
(A) B § A
B) wid A aMiw

(C) W AGE H W ©ie H amid

D) S ¥ | B T

C010801T

15.

1

(8)

6.

The Gordon model incorporaies the

concept of :

(A) Dividend Growth rate
(B) .Dividmd Yield

(C) Both(A)and (B)
(D) None of the above

The dividend decision of a2 fim is

influenced by :

(A) Profitability
(B) Growth opportunity

(C) Availability of cash

(D) All of the above

The M. M. model suggests that share

holders prefer to receive :

(A) Dividend in cash
(B) Dividend in stock

(C) Either dividend in cash or dividen
in stock

(D) None of the above

Set



I, ? e v I8, The Gordon model assumes that the
S T AN required rate of return is equal 10 2
@A) (A) Dividend yicld
(B) g 3 (B) Dividend payout ratio
(C) wmid TR &YX

(C) Dividend growth ratc

@) @i i (D) Dividend per share

19. aee} Hise Al € U W @ ey 19. The Walter model suggest that the value

agal ® ; of firm increase with :

(A) ¥ TPTY AFTAE U & (A) Lower dividend payout ratio
(B) TT WMV YA U B 6 (B) Higher dividend payout ratio
(© YU TR M U B (C) Zero dividend payout ratio
(D) SWw ¥ | g TE (D) I:Inne of the above

20. U4, U Wied @ " & 6 e 20. The M. M. model assumes that investor

sie i b b v el can buy and sell shares :
(A). O™ oF-89 AR & 9l (A) With high transaction costs
B) T - G B € (B) With moderate transaction costs
©) far 5t -39 v @ W (C) Without any transaction costs
©) T X B (D) None of the above :

C010801T (9)

Set-C



22.

23.

M HAied I AT & & arnw @
T w:

(A) THIT GHRIHS Bl &

(B) BHIT I B B

(C) T THRIHS Bl &

(D) URID I TR & qhel &

wﬁww%ﬂ%mﬂwﬁﬂ
AT d

(A) BT gE

(B) faxia erleme

©) W fER

©) S
W.Qﬁ.ﬁ@aﬁum'aam%%'wmﬁ
WWWW% |

(A) ™I Sifa

B) aimrrl%rmr

(©) i %

() S W B T

qieey Hied @ AT § 5 v &)
TS

(A) W99 D 9 gedt &

B) W G WY TEh &

©) W & 9y feR B 2

®) swRE

C010801T

21,

22,

(10)

23.

24,

©)

(B)

®)

The Gordon mode] assumes that the
growth rate of dividends :

(A)
B)
©)

is always positive
is zero always
is always negative

can be positive or negative

The
influenced by its :

dividend dec:snon of a firm jg
(A) - Legal restriction

Financial Flexibility
© Tax consideration
All of the above

The M. M. model suggests that the value

-of a firm is mdependent of its :

(A) Dividend policy

(B) Earnings per share

(C) Risk level

(D) None of the above

The Walter model assumes that the
earnings of a firm are :

(A) Decreasing over time

(B) Increasing over time

(C) Constant over time

(D) Unpredictable

Set-C



5. T el W T e o

26.

27.

ot 9fT ST 10%, FSERT 1094, gy
P AR TR 15%, TN 40% Y-grae
FguT W IR B 8

3500
T 480
X375
<400

(4)
®)
©
)
ﬁﬂﬁﬂwﬁﬁawm$

25.

ﬁﬁm.
gfer 319 A T 4, mﬁa‘rmm
AT B TR 15%, RFET R e @

| TR 18%, TMIY YT ST 40% |

29.87
30.12
29.50
29.00

(A)
B)
©
D) |
T, U4 died @ IMN W fAwifhd
EEt ¥ 9 & o A qﬁrannzﬁﬂraﬁ
WW A !

af & gt ¥ o BT TR T T 100,
qf & aq § T 5 U oW @ B
Y, Goflawor &l &% 10% |

(A) %110

B) 105

(C) %108

(D) X112

co10801T

27.

(11)

26.

From the following information cglculatc

value of an equity share according 1o

Gordon model :
capitalization

Earnings per share 10%,
The

10%, internal rate of return 15%.

company is considering payout ratio of
40%.

(A)
(B)
©
™)
From thc‘ f;)ilowing information calculate
value of each equity share according to -
Walter’s model :
Earnings per share ¥

<500
T 480
T 375
3400

4, Rates of return

~ desired by shareholder 15%, Rate of
" Return on investment 18% Payout ratio

40%.

(A)
B)
©)
D)
From the following information calculate
the value of each equity share at the end
of the year according M. M. model :
Market price at the beginning of the year
¥ 100, Dividend paid at the end of the
year @ T 5 per share, capitalization rate
@ 10%.

(A)
(B)
©
D)

29.87
30.12
29.50
29.00

3110
Z 105
108
7112

Set-C



From the following calculate working

Lo fmif A e o @l 2 capital requirement §

2 T PR Budget sales ¥ 13,00,000, percentage of
wobe fama T 13,00,000, fasp @ anrd net profit on cost 25%. Average credit
g 25%, T O SR T allowed to customer 4 weeks, Averae
ot rafal grT W credit allowed by supplier 8 weeks.

il 9 8 |WiE | ‘

(A) ¥ 1,40,000
B) ¥ 1,80,000
(C) ¥1,70,000
~() % 1,60,000

(A) ¥ 1,40,000
@) ¥ 1,80,000
©) ¥1,70,000
®) % 1,60,000

20, ¥g Fride o BN & -

29. ‘Net working capital is the :

@) T Reaf @1 =Tl e w® (A) Excess of current Assets over
PR 2 ' current Liability |
Mg— ; ETI e \q':qﬁ{tlif £ - (B) Excess of current Liability over
. 2 ke = current Assets )
(C)- wrl gaRE o1 9 SR W .'._ (C) Excess of Fixed Assets over
: A S . current Liability _
© SHmAR@ET . (@) Noneoftheabove
30. e gRares &9 2 4,50,000 3’[ 3R atf - | 30. If operating expenses are I 4,50,000 and
o operating cycle in a year is 1.5, then
a% 15 B a e ol |
Ny _ working capital will be :
(A) 2,00,000 3 (A) ¥2,00,000
B) ¥ 3,00,000 . ! o B) 7 3,00,000
(©) %4,50,000 © (©) %4,50,000
@) %4,25,000 D) 425,000

Co10801T
(12) Set-C



31.

32.

33.

co10801T

ﬁmw%;wmwm
EUféﬁ.ﬁrﬁammmmfﬁ
Wa‘ﬁﬂm45ﬁ-ﬁw
gafl 20 R FRR I sy o
ﬁ?lﬁﬂmiﬂaﬁmm:
(ﬁ)l3.342

(B) 3.05

©) 2.7

(D) 4.2

W—Hﬁmﬁ%m%ﬂ

AAHAT Wb Bl & -

(A) B yarE e

(B) WHg Tuie

© JvE waE fawr

®) SHEF F /B T

A 3R ¥ 45 R ¥ T A
&, ot st 75 it @ e & st
EN @ YA W @R e 30
R &) af @t 380 R T §Y W
rad g

(A) 5

®) 4
(C) 3
®) 2

(13)

31.

32,

33.

Given : Storage period of raw materinl
30 days, Storage period of finished goods
Z 30 days, Debtor collection period 43
days, conversion period 20 days,
Creditors payment period 30 days. No. of

operating cycles will be :
(A) 3.842
(B) 3.05

(c) 27
(D) 4.12

Profits and loss adjustment method
reveals the working capital requirements
as:

(A) Fund flow statement

(B) Cash Budget

(C) Cash Flow statement

(D) None of the above

Normally debtors are collected after
45 days, inventories have on holding
period of 75 days and creditors payment
pr.rint;l on average 30 days. Assuming the
year 360 days cash tumover will be :

@A) 5
®) 4
© 3
@) 2

Set-C



4. uf @m @ P ® LG 1/4 gan 34, If time-lng In payment of any expenses
is 1/4 month, then payments of curren

q1e] A8 ¥ A @ i gef
month will be :

(A) Rodt 7 & =g & 1/4 AT + (A) 1/ of previous month expenses +

e, W8 D AT FI 3 /4 9T
@®) fod 98 & =9 1 3/4 9T + (B) 3/4 of previous month expenges +
e[ W1E & =T F 1/4 T 1/4 of current month expenses
(C) T ME D AT B 1/4 9T +
3T AT & &9 FT 3/4 HIT
(D) MM AE @ AT W@ 1/4 AT + (D) 1/4 of following month expenses +
ﬂ]ﬁﬂ]‘ﬁ%fﬂ'ﬂﬁia/-lﬂm 3/4 of current month expenses
35.. HeH BT AHe AT BT & e - 35. Optimum working cash balance is one

where :

3/4 of current month EXpenses

(C) 1/4 of current month expenses +
3/4 of following month expenses

(A) Transaction cost is lowest

(A) TIER AN WaH A4 8

(B) IGER AT Had Hdl & (B) Opportunity cost is highest
(C) e AT A & (C) Total cost is minimum
(D) w:rgzﬂ 49 PIg 7ol (D) None of the above

36. fifda gael & afa avel 3@ @ 36, From the following information calculate

average collection period :

T DI
: Debtors ¥ 50,000, Bi tvabl
9eR T 50,000, W faer T 5,000, i ors Bills receivable
¥ 5,000, Net sales ¥ 2,75,000
fawa z 275,000
(A) 75 fo (A) 75 days
@) 70 f& B) 70 days
(©) 68 f& (C) 68 days
®y ik (D) 73 days

Co10801T (14) Set-C



7 Wmm"ﬁ'“ﬁ"ﬂw‘mﬂwa.

38.

39.

40.

(A) I o7 3 gf
(B) mmmﬁqﬁg

(C) TN ST % ey

(D) T (A) iR (B)

=1 o
DIfom :
URE 3ER T 25000, T fagy
T 6.00,000, A IR T 35,000, e
fast, Sur R 1 amdy 2

(A) 1333

(B) 13.00

(C) 1350

(D) 1325

(A) Gl ST wEnT B &

®) wE B T g @
() = &1 wan g ®

ﬁﬂ?ﬁﬂmﬂmm

- (D) & # | P Tl

W = @ fw (R @ sar
i ot 7 999 9 @ Wew @
IR TX Fida @ i & ?

(A) fw wrrh fafr
®) P arew wEn
(C) U &t 4. Ry

(D) e Wi

Co10801T

(15)

37.

38.

39.

40.

Liberal credit standards may result into
(A)
(B)

Increase in bad debts

Increase in Average collection
period

Decrease in collection costs

Both (A) and (B)

(©)
(D)

Calculate Debtors turnover ratio from the
following particulars :

Opening Debtors T 25,000, Total Sales
¥ 6,00,000, Closing Debtors I 35,000,
Cash Sales is half of Credit Sales.

(A)
(B)
©)
(D)

13.33 times
13.00 times
13.50 times
13.25 times

“VED’ analysis method is used when :
(A)
(B)
(©)
(D)

Material are used
Machines are used
Workers are used

None of the above

In which of the following inventory
control method, items of inventory are
classified according to their value and
importance ?

(A) Prepetual Inventory System

(B) Economic Order Quantity

(C) ABC Technique

(D) All of the above

Set-C



41. meﬂﬁﬂw%@ﬁgﬂﬁﬁ?

42.

¥ A ST R wRRT @ o
2?

(A) MR SUHAT

®) ifHT SwhT

(©) T ST

(D) Svded § | T TE

Fefeiea % & @ g a1 @ s
TR ?

(A) f-?rﬁmvrﬁﬂfrr

@) g fofy

(©) =ITur Wiita & &1 fiofy

D) @ fof

R T T B e PR
W o el P @ g s
I8 ?

(A4) Gelawor

B) YSfr W

© Tt o1 yame

O) faxfrr sriffat &1 R

co10801T
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41.

42.

43.

For the calculation of minimym, stock

level which material usage i

included 7

(A) Normal usage
(B) Maximum usage
(C) Minimum usage

(D) None of the above

Which of the following is not the

component of finance function ?

(A) Investment decision

(B) Financing decision

(C) Decision regarding setting up a
*  business

(D) Dividend decision

Which of the following is not main a

compnent of financing planning as per
Author S. Dewing ?

(A) Capitalization
(B) Capital Structure

(C) Management of Capital

(D) Developing financial procedures

Set-C



45.

46.

47.

ﬁﬁmsu%'mmﬁmmﬁ

W%ﬁwm%aﬁm%ﬁ

fasht 2 e <y e By ?
(A) 5,250
B) T 4,000

- (C) T2,500

(D) ?5500

'mﬁm?uooooln@mm-

AT Hr gify
(A) T 36,000
B) 40,000
(©) 60,000
(D) 30,000

mmﬁwmaﬁﬁmw

I & ?
(A) ﬁﬁm’éﬁmwaﬁﬂi

B) wiRFDRE T R
(C) &< yarg faveyor
D) Eﬂ{iﬂﬁffﬁaﬂﬁaﬁr

ﬁa?mma?rtrﬁﬁuﬁﬁrﬁmgaﬁ_., ;

REdT & W9 :

(A) &G B AT ReRr 2

B) Har o H fRer w7 ?

(C) HUEY AR BV A A &
D) SwF 7 ¥ P T |

C010801T

(17)

44,

45.

46.

47.

(A) Economic

The estimated monthly sale for 2a
company is as follows :

Month Sales in T
Jan. 5,000
Feb. 6,000

March 4,500
April 4,000

If 50% sales are realised in next month
and balance in the next of next rrlcmt!x
What would be the cash collection 1n
month of April 7

(A) 5250
B) 74,000
(C) %2,500
D)  T5,500

Given : Cash turnover 6, anpual cash
operating expenses < 2,40,000. The
minimum cash balance required :

(A) % 36,000

(B) % 40,000

(C) 60,000

(D) 30,000

Out of the fdllowing on which technique,
Baumol model is based ?

Order  Qantity
Technique.

(B) Statistical Quality Control

(C) Cash Flow Analysis

(D) None of the above

Miller-Orr  model is suitable in those
cm:umstance when the :

(A) Deémand for cash is steady

(B) Demand for cash is not steady
(C) Carrying cost to be kept minimum
(D) None of the above

Set-C



48.

Prfaf & % -9 oR® At 6
A R wargs genal @ yaifdd oW
W & ?

(A) gD ATEVE 1 qeg

®) PrEh @ v @

(©) fiiw Rerfy

(D) Suga wh

49.  A-SIRHTHIR G Heg-aifimaiaeer
Riamt & da wof = W ¥ s
BT & |
(A) TH-IRHTNTT W e
&I

B) daM-IfEEITT W AdEE
2

© ImERD T Reuws @
T3l TEvy

(D) SHF ¥ ¥ i 78

50. Frfefe % ¥ #-ar fidig yeem o
&3 BT WaW 38T Ui Py & 7
(A) TS R warer g

yq=
®) IR & B ARHTH T
© dreREEd v WRE B wgfe
BT
D) v
cu1uuu'11'
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48,

49,

30.

Which of the following factors can
influence financial management practices
in different countries ?

(A) Cultural norms and values

(B) Legal and regulatory frameworks
(C) Economic condition

(D) All of the above

The  conflicts ~ between' profit

maximization and wvalue maximization

arise primarily due to ;

Short-term  focus of  profit

maximization

(A)

Long-fem focus of profit

maximization

(B)

Differing objectives of shareholder
and stakeholder

©

(D) N_unc of the above

Which of the following best describes the
scope of financial management ?

(A) Managing
cfficiently

financial  resources

(B) Maximizing shareholder wealth

(C) Balancing profitability and risk

(D) Al of the above

Set-C



51, Wmma%qﬁwﬁﬁaﬁ

52.

53.

T T B forg ﬁﬂﬁfﬁaﬁ@ﬂ,—ﬂ
TEIE BT ST by e & 7

(A) e

®) FEREfET

(©) T ey

@) ST F B

Y & T aE B PwiRe w @
wihdr & ©9 # WA S

(A) FHEfeT |

(B) A o4 &Y AT

(c) fewmefer

®) e

o BT T el Hefa P @ :
(A) 990 & WY & W o e
B DI FGERON

®) figr & & o ga “Rw § 59
IR | fH

© frfm sl #§ fae @ oEwR
AT

(D) A9 T4 aNafdd @S 8 @
4 3R

Co10801T
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51.

32,

33.

Which of the following techniques is
used to calculate the future ‘value of
single cash flow ?

(A) Discounting
(B) Compounding
(C) Present Value

(D) None of the above

The process of determining the present
value of a future cash flow is known as :
(A) Compounding

(B) Future value calculation

(C) Discounting

(D) Amortization

Time value of money refersto :

(A) The concept of earning interest on

interest over time

(B) The principle that money today is
worth more than the same amount
in future

(C) The opportunity cost of investing
in financial assets

(D) The difference between nominal
and real interest rates

Set-C



IS I Ge9 IB Y ¥ affd 54. An annuity is best described as -
54. TP

faar rar & - _

Faf s W 8 e Tod) (A) A series of equal cash floy,
“ @ TF ’3.-"3_6" occurring at regular intervals

yaE .
(B) UH-F¥ g Ydrg (B) A single Lump-sum cash flow
€ @ WRAT @ & 9 (C) A prepetuity with finite duration
(D) V&R gRT 9Nl & oy wme (D) A financial instrument issued by

the government

55. A fofilg geu9 & 7= w7 @ 55. In Indian Financial Management fthe

: : : accounting standards primarily followeg
I T A1 e A § g
(Aj ISR &g ﬁq’r%q e (A) International Financial' Reporting
' (&7 T 3%, TH) ' | Standards (IFRS)
(ﬁ) IR R Wipg owr g (B) Generally Accepted Accounting
(& T @ @) : o Principle (GAPP)
© 'H'N'tfﬂl oG e _ - (© Itidian Accounﬁng Standards
@ W IR R Wew dRRT a1 (@) Generally Accepted  Auditing
(ﬁﬁ. T T W) ; Standard (GASS)
56. Weqqar o aRf R ' 56.  Perpetuity refers to -
a) fafe HIeT R B9 Tl Toe (A) A series of equal cash flows
YaTE Bl U% e - oceurring at regular interval

®) W THE YAE A I G
© @ IR B a7 F 1 g

() Aninfine series of equal cash flow

.(C) A lump-sum Payment received at

Wﬁﬁ the end of the project
A . w o B e (D)  Financia| instrument with a fixed
% faxiig wm

| Mmaturity date

C010801T
(20) il



57. f=feafea § 53l ARG
fTorg g5 %-ﬁﬁaﬁ?%

(A) VI SEeT 9
B) R ams e
©) WG IR

©) ST T

58. aﬁ@ﬂﬁ?ﬂﬂwﬁmﬁwg;
(&) TEEHE AT o Redhy e
(B)’ R DX BT AT g

(C) TRl HTeHl ol [y yewag

O REEEN WA B

59. FfaRes § ¥ o @m 59.

(A) TG YA & WAG H A=K

®) RS T femwel @
OIS WiiRaH FrIfidary

(©) AT Td SPreil A1

(D) W9 (g qaferer © yA1d @ SuEr

Co10801T (21)

W aney s,

38.

Which of the following is a distinction
between Indian and Intemational
Financiaj Management ?

(A)
(B)
©
D)

Accounting standards used
Regulatory environment
Cultural differences

All of the above

International  Financial Management
deals with -

(4)

®)

©

(3)

Financial management of
multinational corporations

Financial management of domestic
companies .

Financial ~ management  of
Governmental organization
Financial management of non-
profit organization

Which of the following is not conflict
between profit maximizations and value
maximization principles ?

(A)
®)

©
D)

Differences in timing of cash flows

Differing risk preferences of share
holders and stakeholders

Short-term and long term focus

Ignoring the impact on society and

environment

Set-C



60.

61.

62.

TR " 3 W &)

(A) AR F TH) yaw D e oy
BT YT T

®) ¥ % W Y w® Ry o
1 TVET BT

©) T 54 yaE @ wRy B 5w
&1 e s

_(D}ﬁ?ﬁttrﬁ:ﬂwaﬂmmr

HeHh Bl
fexarefien v ufsm 2

(A) Mmaﬁmw
HAHT Bl

(B) m%mﬁﬂmmaﬁﬁw

B MU ST

©) TP T6d WE & TR & g
@1 FaR s

O) AR & & yaE d T g
@1 a1 S

frafofes 4 ¥ smw affed @
FETEN § 7

(A) WS fevrar gram

B) T&H aR &I ded e

©) ®iF amiv

D) & FH & GO

Co10801T
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60. Compounding is the process of

61.

62.

(A)

(B)

©

(D)

Finding the present value of 4
ﬁltun: cash flow

Calculating the interest eameg %

an investment over time

Determining the future valye of 5

single cash flow

Evaluating the profitability of ,
project

Discounting is the process of :

(A)

(B)

(©)

(D)

Evaluating the profitability of 1
project

Calculating the interest eamned on
an investment overtime

Determining the future value of 3
future cash flow

Finding the present value of 3
future cash flow

Which of the following is an example of
Annuity ?

(A)
(B)
©
(D)

Monthly rent payment
One time lottery wmnmg

A stock dividend
A loan repayment

Sat-L



63.

ﬁﬂmﬁﬁﬁﬁqqﬂwﬁm
Y9 B fadrgar ¢ 2

@) A R o) ¥ ey

@Hﬁwﬂmwwmmm
R

© ﬁﬁﬂm@maﬁw

- I Fe

D) SR Wi

'MﬁmWWWﬁWﬁ;

(mmwwﬁﬁmmwﬂ

@EW$WﬁWWWﬂ

@am@mﬁmmT
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&) Y &l saRT o9 B AfEa

T

®) SERE e @
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(C) vMygar Ud WIRew @ Hegfer
AT

D) q ™ s &
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63.

64.

65.

Which of the following is a characteristic

of International Financial Management ?

(A)
(B)

©

)

- The

Dealing with foreign exchange rate
Managing Financial risks across

multiple countries

Complying with different legal and

regulatory framework

All of the above

main objective of financial

management is to :

A)

(B)

©
D)

Maximize shareholder wealth
Maximize profit for the company
Minimize cgéts and expeﬁses

Achieve operational efficiency

What is the primary focus of profit

maximization principles ? -

(A).

(B)

©

D)

Maximizing long term shareholder

wealth
Maximizing short term profitability

Balancing profitability and risks

Achieving sustainable growth

Set-C



The concept of time value of money i

66.
gy 39 faOR
66 I @ _WTEI W ¥ based on idea that :
R SIRT © : |
ST B SfEeH e @ fog (A) Money should  be  spey
@ i P ' immediately to maximum utility
&l Bl R ST ARy |
(B) I @ WM qaT BT VP o4 © (B) Money has a fixed value over time
- (c) fdsr &7 M W qa1 Ao AT (C) Money can eam interest or retum
T 3 when invested
DHHT Hahdl
D) ﬂﬁT. LRI I .W J (D) Money is subject to inflation and
. Ay 2 | . depreciation
67. dIYP! U4 ARGAaT & 419 You R 94T 67. What is key difference between an
22 annuity and a perpetuity ?
(A) affsl @t o ffEd sEfr 2 (A) Annuity has an infinite duration,
. dfe Tvaddr &1 3= \?ﬂaﬂ' ﬁ?ﬂ . while perpetuity has an infinite
2 ' duration.
(B) df® GAF TPl YaE Hewr & (B) Annuity provides equal cash flows,
BEICRI I ECR G M rop S o S ol | while perpetuity varying cash
YaTE FR B | owg,
(C) diffal &1 SEENT afdda g & (C) Annuity is wused for personal
fere faam ST & wrafe wreadar @ finance, while perpetuity is used in
SWN PRuNe foa § fhar o corporate finance.
el
®) P <O & W A (D) Annuity is a liability while

TP GHRT 7| perpetuity is an asset.

C010801T (24) : -y



69.

70.

co10801T

00, go
R P o g 3
R fore el 91 Rt a7 gy
SPTTITT 1.5%, Teht 0,50 |

dSit @mra @

(A) 20%

B) 18%

(© 16.67%

(D) 16.5%

ﬁ!ﬁﬁ!ﬁ%ﬁqﬁﬁﬂﬂﬂﬂ’f%r-w
afHTsT &1 # :

(A) IR g5

B) e . SR

(C) 3R UH fofg

D) SHF § ¥ B 78

X fafes & T 100 9@ 1000, 9%
@R AT T 110 9y oW w A

fou) frfm & og—afies 2%,

TANA 05% T GEW T 500 ¥ WX D

are oft 9 arra s S|

(A) 8.25%
(B) B8.10%
(C) 8.50%
D) 841%

69,

70.

A company is willing to issue 1000, 8%
debenture jrredeemable of T 200 each
and for whi¢h the company will have to
incur  the following expenses
underwriting commission 1.5%,
brokerage 0.5%.

The cost of capital is :

(A) 20%

(B) 18%

(C) 16.67%

(D) 16.5%

“The cost of capital is the minimum rate
of return which a firm requires as a
condition for undertaking an investment.”
This definition is given by :

(A) Solomon Ezra

(B) Miltor H. Spenser
(C) R.M.Lynch

(D) None of the above

X Ltd. has issed 1000, 9% preference-
shares of ¥ 100 each at T 110 per share.
The flotation charges are-underwriting
commission 2%, brokerage 0.5% and
printing ¥ 500. Find out cost of capital

“after tax.

(A) 8.25%
(B) 8.10%
(€) 8.50%
(D) 8.41%



1

12,

73.

- ®)

y fofiee 3 Z 50 arel 10000 |HaT 3T
20% W w frifia feg) fefra o
10% B3| T B T 39 YPR
A S W 25 W e A R QA o
g el aR OB uwE ol enTd
forarfery |

(A) 9.09%
9.05%
9.00%

9.10%

- (C)
D)
B T A T O R
(A) WE AR
B) TR AT
(© 3ddgaera -

(D) Sy 4§ B T
A fofics e B forfiee @ wwar o

- ol BH: 5 A @ T2 A | o

(A)

¥ ¥ UAF T 760000 o BAT L1 A

fifies & 1 o o4 ot G

2, Wafd B fafiee A wuwEl ® o
T 10,000 AT SREM W W A
Z 15,000 f&aT & | URY afr Mg o R

12% T4 30%
12% Td 25%
12% T4 17.5%
12% U9 15%

®)
©
©)

co10801T
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71.

T2

73.

Y Ltd. issued 10000 shares of T 50 cach
of premium of 20%. Cost of issue s

10%. Company earned air earning per.

share of ¥ 5 on these share. Calculate ¢y

of capital after tax.

9.09%
9.05%
9.00%
9.10%

(A)
(B)
©
D)

Cost of Depreciation fund is the :

(A)' Explicit cost
(B)
©

D)

Opportunity cost
Avérage cost

None of the above

A 'Ltd. and B Ltd. have equity share
capital of ¥ 5 lakh and T .2 lakh
respectively. Each of them have earned a
profit of ¥ 60,000. A Ltd. has no
preference share capital and debt capital
while B has paid ¥ 10,000 as interest on
~debenture and T 15,000 as dividend on
preference share. Earning per share is
respectively :

(A) 12% and 30%

(B) 12% and 25%

(C) 12%and 17.5% -

(D) 12% and 15%

Set-C



74, WA W AR’ W A9y ©

74,

Trading on equi "
" % : quity means :
(a) T T A wEE oy -

AdFTeE T IS (A) Less equity shares and more long

. term loan in capital
B) W 39 s efmrel
i (B) More equity shares less long term

|
(C) Tl TWER - o
| (C) Both are equal
(D) SuF A | B TE
_(D} None of the above
75. Ofe Wl @ GO T 50,000 R, s

75. If equity share capital is ¥ 50,000,

Sl ﬁﬁiﬁ ¥ 12,500 TRV T Ii?:?l' ¥ 12500 preference share capital ¥ 12,500 and
2 3N R W debt capital T 12,500, It will be called as :
(A) WM ST

(A) Normal gearing

(B) T T (B) High gearing
© = e (C) Low gearing
(D) Gﬁ'ﬁﬁ %9 iﬁ‘r&; TR _ " (D) None of the above

76. “davst @7 Ay fow wew § W 76, ‘Leverage may be defined as meeting a

: ' fixed cost or playing a fixed return for .
AN @ e U R Yo @ AT Gl

TRALr ORI AR

employing resources or funds.” This

definition given by :
.(A) WA SO ' (A) Soloman Ezra
B) WM g (B) John Hampton
(©) 3 . fom (C) R.M.Lynch
D) W. §B (D) Prof. Kuchhal

Set-C
CO10801T ., (27)



77. Raed RS 79 fewmE o & o

78.

79...

©

3T ¥ IR & HevaHy Y 7d @
¥ @ AW ¥ As wRad g &1
Iz gRHTer &) @ -

(A) WM g9eq

- (B) AW SR

© P w AR

D) ST § | $E TE
frfefen gt & Raem e @
T HIT : fasg T 250000,
IRadeher ar Rw &1 25%,
©ITd T 80,000 |

A)
B)
©)
)

1.70
174
1.80
1.92

qRaETer ofavs &1 G & -

S g A9 H % gRawH

T & wfoera ¥ aRads

4)

PN UG A @ Q4 9 S gl § uRad=

(B)
g @ vfawd # wRad=

XD LA a9 F % uRada

sy yfoera & aRad=

PY T e A Q4 @0 A % IRaddT
fasma % % wRad=

co10801T

(28)

7.

78.

79.

(A)

“Operating Leverage exists When

changes in revenues produce greater

changes in EBIT.” This definition given
by :

John Hampton

Soloman Ezra

®)
©
®)

Miltor H. Spenser

None ot_‘ the above

From the following data calculate
Operéting Leverage : Sales ¥ 2,50,000,
Variable Cost 25%% on sales. Fixed cost

< 80,000.

1.70
1.74 -
1:80 :
1.92

@)
®)
©
©)

- Degree of operating leverage formula is :

- % change in EAT

(A) - o
% change in contribution
®) % change in EBIT
" % change in contribution
| ©) % change in EAT
% change in sales
) % change in EBIT

% change in sales

set-C



g0, afy e ofievst 3 @ T WY ofr gy “

10% aﬁ q% ?l?ﬁ % ?h- gy -qa. W a}- g Ifﬁnancial levcrage is 3 and Earnings per
° . . Share (EPS) increased by 10%, then

fa,—dﬁ UIGEG g ?
qd @M 3 e What % of EBIT (Eamnings Before
Interest ' a1
ks 3.12% i St and Tax) will increase ?
; B 2.02% (B) 3.12%
: 3.029
© 333% b Ao
A3 B ©) 3.33%
D) § _ (D) None of the above
81. WA oSl Pl A ® 81

. Combined Leverage (C. L.) formula is :

(A) ETe haRst x fir el

(A) Operating Leverage x Financial

Leverage
B) . “ X ®) - Contribution 5
bbb b Earning Before Interests tax
PR R s " 'Earning before interest and Tax
N Earning before tax
i ' Contribution
Q) it C
R N g © Earning before tax
©) Suiw e ' . (D) Allof the above
82. UGl @ram aeef HEardr B, 99 : 82, Capital structur¢’ is said to be ideal
| when : '
A) q\t‘ﬂ FTE : ' - (A) Cost of capital is minimum
(B) I T anEgodr Jtd 2l . (B) Profitability of the business is

- maximum

(C) TRl 9 T < e # (C) Profitability and cost both are
| maximum

: (D) Both (A) and (B)
(D) <Hi (A) 3R (B) '

| .
C010801T (29) ' et-C



83. From investor’s point of view, the Cost of

83, fdie & qRed ¥ e T

capital is :

A) ot @ @ gl (A) Yield of capital sacrifice

(B) Market value

B) IR YA
© 9N R (C) Interest rate

(D) SUdq # | PIg T8l (D) None of the above

84. - 30T A=AT &7 IV % : = ‘ 84. Financial structure means : .
(A) @RI By (A) Long term fund
(B) é’rﬂmf-ﬂaaﬁﬁ-ﬁwmﬁa . '®) ‘Long term Fund + Cumes
_ o | Liabilities

(©) <G & wwRadl W) e (C) Excess of liabilities over assets
I(D) Gﬂéﬁﬁ L -\B[ EF’I?{ TRl ) | (D) None of the above

gs. feifed q@al 4 A fufiee & §  85. Find out capital gearing ratio from the

LG G| NEIG] ,_ﬂ’?f o1 @fﬁﬂ[ : - following mf_‘ormahon of ALtd:
Paid up capital ¥ 1,00,000, Reserve

gaar Joit ¥ 1,00,000, HIT T 60,000, 9% S |
‘Fﬁ C % 60,000, 9% Preference share capital
qaifererR 3 Iufl T 20,000 TH 8% F % 20,000 and 8% Debenture T 20,000 :
T3 T 20,000 : |

(A) 3.95:1 (A) 3.95:1

B) 45:1 , “(B) 45:1

© 4:1 (C) 4:1

D) 46:1 D) 4.6:1

Set-C

co10801T (30)



86, SRR ST B & W
(A)mﬁamﬁ}ﬁmﬂmm
4
®) o BT AT T <
1 g 37
(©) W T ARG T > Aaww
Pl gRI e
@) ST F F BIE TE
g7. T F ARIE W G D Il
il ) (— = ferar s
2

a) 1
® 2
© 5
®) SoF § | P8 TE

8. ol TocH R B WG ¢ :
(A) eht @ =

® o @t o
© ot srafe
(D) S i

Co10801T

(31)

86.

87.

88.

OVercag.t
em&mmlﬂﬁm occurs when :

(.A) AF“'“'] rate of earning > curent

rate of earning

(B)

Real value of business < Book .

value of business

(C) Real value of business > Book

value business

(D) None of the above

Under weighted average cost of capital,

total capital is assumed t0 b€ .ccocuaeee -

A 1
®) 2
(C) 5
(D) None of the above

Nature of capital ht;dgcting problem is :
(A) Demand of capital

(B) Supply of capital

(C) Capital rationing

(D) Al of the above



89. Limitation of capital budgeting :
89. {oft goreT @Y WA ¥ ‘
. : _ (A) Possibility c_)f unsuited selection

(A) SUYeRT FgF bl qRITTAT | |
(B) Difficult to estimate accurate cqg

(B) A PN el FFAT T A

. ; .

L(© W (A) 3R B) . © Bt@amd@)

O) SR § | o T (D) None of the above

90. Yolt aoieT bt anef 2 - ' 90.  The meaning of capital budgeting s :
(A) I D [} BT goie . (A) Budget of sources of income
®) lit’ﬁ 2 &7 e ﬁIF-EIUT - (B) Planning and control of capita
: ' | ekpe_:nditurc.
© ThaaeFmakfimisr  (© Preparing capital budget and '
o T Vol ' finding out variances
(D) Hqgaa 7g GO =r5"f - (D) None of the aﬁove
91. Walf® el ﬁ;r:ﬂ qoIe oo @ 91. The simplest capital budgeting technique

| is : ‘

(A) A N q@% ; (A) Rate of return metho&
B) uRerRfr vgfy - (B) Urgency method
(©) YT aafy | (C) Payback period
D) ST # | P (D) None of the above

0108017 - I . .



92, TRER Yol WiTd $T AT 2

(A) Tl TR WHR BT

B) TF Wd WHR BRIl

© & weH B WH aRk

c

IHfeqd yedl P SRRy

@) S H W I T

03. WRANTT B YE VGS ITE B

T

(A) WD QB YE dW + g

®)  fahg —daes &

©) fawy —<ues T - ae -

@) SR A B T

94. TUAM YoU IRE T YA © -

(A)

®)

©)

(D)

Cco10801T

yRfews fafFrT

AR NP AIIATE

Sra fafamT

T APS JFAYATE

st fafadr

Ira APHS IFVATE

wRftwe fafam

qifie g SaE

(33)

92. : .
Mutua| exclusive proposal signify :
(&)

(B)

Accepting all proposals

Accepting one proposal

© Accepting one proposal and
rejecting all alternative proposals

(D) i None of the above

93. Formula for net cash inflow of Project

is ;-

(A) Net profit after tax + depreciation

(B) - Sales — operating expenses

(C) Sales — operating expenses —
interest — tax

(D) None of the above

'94. Present value factor formula is :

Initial outlay
Adjusted cash inflow

A)

Average outlay
Annual cash inflow

®)

C Average outlay
( ) Average cash inflow

Initial outlay
Annual cash inflow




95, Wﬁﬁﬂ?ﬂma‘\rﬁmﬁm—g[w%;

96.

97

@ T B T AR w
B) I yamr <x Ry
© =Hi (A) ik (B)

D) SHH § ¥ B 78

© 3iE B qEHE T = s @

RS e
D) ITYw wf

e Ads siaE GF & 9F @ w
@ d1€) T 200000, Wic @ GG
% 10,00,000 : |
(A) 5 9%

B) 6dY

© 51

D)

C010801T

_f—‘rﬁ%&am&q’fﬁﬁéﬁmaﬁ

(34)

95.

96.

97.

Internal Rate of Return is 5, called -
(A) Time adjusted rate of regyry
(B) Project rate of return method
(C) Both (A) and (B)

(b) None of the above

Optimum capitalization is :

(A) Currently eaming rate = Rea]
earning rate
(B) Book value of business = Reg

value of business

(C) Book value of the share = Ry

value of share

(D) All of the above

From the following information calculate

- Pay Back period :

Annual cash inflow (before depreciation

after tax) ¥ 2,00,000, cost of plant
¥ 10,00,000

(A) 5years

(B) 6 years
©) 5-;: years

(D) 4 year

Set-C



8.

99.

100.

W‘T?ﬂ?mﬁﬂﬂ?mmirééwﬁ
a‘(ﬁd’]ﬁ?}gsﬁsﬂ?ﬂﬁiﬁaﬁ——r?%m

B‘ra‘rmwﬁ%zsmmmm

gy ?

(A) % 50,000
®B) 25,000
(C) 30,000

(D) % 24,000
SRTIGAT s BT &

PV
Cost

(A)

EPV_
Cost

®)-
(C) THi (A) 3R B)
@) ST A ¥ P

i qomel § oM o RS B
U B -

98.

99.

yRfE RFENT T 264,000, TG NBS

Jqydre T 51,740
5.102
5.201
5.191
5.108

(A)
(B)
©
(D)

co10801T

(35)

100.

Wh . Y
nat wil| be‘ the post pay back profit-
ability if [ife period of a machine is 10

years, pay back period 5 years and annual

€arning ¥ 6,000 2

(A) ?sb.ooo
(B) 25,000
(C) %30,000
(D) ¥ 24,000

Formula for profitability index is :

PV

) Cost

EPV
Cost

(B)

(C) Both (A)and (B)

(D)

None of the ablove

‘From the following information calculate
present value factor : ;
Initial investment ¥ 2,64,000, Annual
cash inflow ¥ 51,740 |

5102
5.201
5.191
5.108

(A)
(B)
©)
(D)

Set-C
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Instructions to the Examinee :
1. Do not open the booklet unless you are
asked to do so.

2, The booklet contains 100 questions.
Examinee is required. to answer 75
questions in the OMR Answer-Sheet
provided and not in the question booklet.

All questions carry equal marks.

3. Examine the Booklet and the OMR Answer-
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Faulty question booklet due to missing or
duplicate pages/questions or having any
other discrepancy should be got
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wienRiar & forg fdw -

1,

2,

3.

Y-gRaE F 09 0% 7 @ T 96 JTH Bl
5 W | ‘

wer-gfeat # 100 weA &1 weErdi B 75 9
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A) TED
®) fwg
(©) ST
D) g Wi

7. argﬁmﬁmﬁmﬁma%mw

@I Y ?

A) = . Rveq

®) fbfera Preer 2,51
(C) IR TH. SR

(D) Suga § § P 785

Co10802T

...............

(4)

i rtant obe¢jectiy
The impo ) e of m““keting
management is to ............_. ’

(A) Create customer

(B) Eamn profit

(C) Create middlemen

(D) None of the above

Money spent on marketingis .......
(A) Wastage

(B) An investment

(C) Burden on the Cusotmers

(D) None of the above

Modern marketing concept js

-----------------

oriented.

(A) Customers

(B) Sales

© Prdduction

(D) All of the above

Modern Marketing concept was presented
by whom ?

(A) W.J. Stanton™

(B) Philip Kotler

(C) R.S.Davar

(D) Nong of the above

Set-A



10. SEEH-AREE IR | RevE @

(B)

©

)}

co10802T

1975 & SIF A

(8)

The basic objective of marketing function
10 link .ooevranrereee o

(A) Wholesaler and retailer

(B) Producer and consumer

(C) Producer and Retailer

(D) None of the above

The socictal marketing concept was given

by .....

(A) Philip Kotler
(B) R.S.Davar
(C) H.L.Hanson

(D) None of the above

. Markting era based on consumer-oriented

was started in :

(A) 1900s

(B) 1925s

(C) 1950s

(D) 1975s

Set-A






15. F=fRed ¥ 3 S g N

16.

17.

wrafaae <181 & 7

(A) ufefeet
(B) WEH

(C) ISHfere dreiraRr.
) vudad d | B T

¥ o o 6 UE WY ¥ T AR
frr A B WA R OE

------------

co10802T

15.

(7)

16.

7.

Which of the following is not related to

micro-environment 7

(A) Suppliers

(B)

Customers

Political environment

©)

(D) None of the above

Factors whir,i; directly affect the

market operation ability of the company
are ©

F

Uncontrollable

(A)

(B) Controllable

Uncertain

©

(D) None of the above

When the company follows one product—
all segment principle is called
marketing.

(A) Differentiated
(B) Undifferentiated
(C) Concentrated

(D) None of the above

Set-A
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22.

23,

c010802T

— R SR
o S T 1 W, B PE E

(A) ST

B) TSI

() wfrTa

@) SodE § ¥ i Tl

(9)

21.

23.

The act of designing the company’s ©

; 5 joidec
and image so that it occupies a distine

and valued place in the target cutomer's

mind, known as :

(A) Segmentation

(B) Positoning

(C) Differentiation
(D) None of the above

When buyers have 100 narrow an image

of a brand, is KNOWI 88 seeeseeressstt ®
(A) Confused positioning error
(B) Under-positoning error

(C) Over-positoning error

(D) None of the above

Perception is a part of ...c..... factors.
(A) Social

(B) Psychological

(C) Personal

(D) None of the above

Set-A



24. “ﬁﬂhﬁ#?ﬁﬂmﬁmmﬁmwg
T T BT 7B A 2 v e
TET TR ?

(A) Hiex . gaw

@) “uifers

© IR . e

D) Sugaa ¥ | B 58

25. m-qﬁmmmﬁaﬁré,ma‘,m
essnrnens DT UEHTT BRAT & |
(A) TdE®
(B) WINIR
(C) e
(D) S9Ya # & Hr§ e

26. dfs fFremes swirmr @ seRl B g
BT &, Tl ST .......... BN B
(A) 9
(B) "o

(©) wNge
(D) Sudad ¥ | B

co10802T i

24,

23,

26.

"thing is more difficul and
t

hl‘_‘rtrﬁrt

able 14 deo id
t“

more precious, than 10 be

is quoted by :

(A)  peter F. Drucker
(B) Napoleon

(©) R.S.Dayar’

(D) None of the above

The buying-process Starts when the buye;

recognises a ............... |

(A) Product

(B) Market

(C) Need

(D) None of the above

If performance meets consumer
€x}. sctations, the consumer is .............. :
(A) Delighted

(B) Happy

(C) Satisfied

(D) None of the above



28, wrediv s @) TR R

29, Wmmwaﬁﬁanﬁaqﬁg;

30. IMMH T H [T TR G ...

(A)

©
(D)

C010802T

we-gel
ST § | PIg Tl

(11)

27.

28.

29,

30.

The final stage in the consumer decision-

making model is :

(A) Evaluation of alternations
(B) Pre-purchase evaluation
©) Posf-purchase evaluation

(D) None of the above

The tendency of ]ndia-n buyer is :
(A) | To bargain

(B) To purchase cheap goods
(C) To file complaint

(D) All of the above

. Social needs do not include :

(A) Cosmetics

(B) | Entertainment
(C) Greeting cards
(D) All of the above

In modern age consumer is the ....... of the

market.

(A) Monarch

(B) Buyer
(C) White-elephant

(D) None of the above

Set-A



o —
¥ =

31 ST o SRR S g e o2,

(A) 1947 H
(B) 1956 %

(C) 1986 %

(D) 2014 §

32. PG SR § SR B & R 3.

L -

Co10802T . (12)

Consumer Protection Act w
ay onf;
“rﬂﬁj

in :
(A) 1947
(B) 1956
(©) 1986

(D) 2014

Consumer products are thoge
Producyg

which are consumed by

(A) Wholesaler

(B) Retailer

(C) Uhtimate consumer
(D) None of the above

The term “product concept’ was firstly

(A) R.S.Davar

-(B) Philip Kotler

(©) Theodore Levitt

(D) W.J. Stanton

Set-A






37.

38.

39.

Fe=feifa 3 QO waw vy SN

I TE R ?

A fRRre sarg

B) TEES @7 @ S

© YfwrTs sag

©)  qff o Jarg

SEIR 4@ ¥ guR e wwrmar
far s wawar @ 2.

(A) SOR YEar § wxefiawor

B) SR Y& BT AR

© TG B T v A F gRad

D) S wh
wa—ﬁwasrarf%mﬁﬁfqﬁmwﬁﬁv

BT & ?

A) SaOE fowr
(B) TR TEwrE
©) SR Rerar
®) S Wi

C010802T

(14)

37.

38.

39.

Which one of the following s not
q

consumer product ?

(A)
(B)
©)

(D)

Speciality products
Shopping products
Convenience products

Supplies and services

Product line may be modified wity, the

help of :

A)

(B)

©

(D)

Product line simplification

Product line €Xpansion

Changing in the quality and style of
the product

All of the above

The ultimate decision of the product-mix

depends upon :

(A)
(B)
©

(D)

Product width
Product depth
Product consistency

All of the above

Set-A



40.

41.

42.

C010802T

TG~ NWET ......... A ARG

Sy T A W Song g T

(B) U& 9SG Ay
(©) @ Iie QAdy @ #g

@) SR A A BiE T

w sae o RN s, mvg ey
aeR, S FFN G ¥, SR i g
et 1 aref & :

(A) SR gEel

(B) S d9¥]

() S fsmr

©) SwfE § A B T

ol gegrg @ AR O Sf S @ aRr
¥ Fwte for &, o 5 Swiwr @

(15)

A0,

1l.

42,

readuct Hing' referd 1o

(A) A group of closaly relnted products

(1) A specific product
() A apecific product brand

(D) None of the above

Specific model, brand or size of 4 product

that n company sells €. £ Samsung,

Refrigerator means :

(A) Product linc

(B) Product item

(C) Product mix

(D) | None of the above

The third layer of the total product which

is the psychological fecling about a

product that influences a consumer

purchase, is known as ...........

(A) Core product
(B) Augmental product
(C) Symbolic product

(D) None of the above

Set-A



43, F=fafea. § @ - v -

43. Which of the following is not a stage of

A2 B sraver & @ 2 product life cycle ?
) (A) Introduction
&) . (B) Growth
& ;
© i (C) Saturation
©) . TPTDR (D) - Monopoly
4. FefaRee ¥ ¥ frg ST ¥ IWTE @ 44.  In which stage of the following death of a
Tg B oy 2?2 product_fake place ?
(A)  IRuTmar & sz " (A) Maturity stage
B) 9T B vy | (B) Decline stage
| © W=eT Y 3T " (C) Obsolescence stage
| D) Sa § DS AL (D)° None of the above
45. fr=foaRaa § & g DU A F ? 45. Which statement from the following is
_ -fal'se ?
(A) ST &1 g AT Sar 2 (A) Product has limited life.
- (B) SO B e o wrer &) - (B) Product has unlimited life.
(C) TdI§ & '\"ﬂj"«?‘l’ IJaer H fIwy (C) In the saturation stage of a
FeIaT WX UR BT 2 o ~ produced sales are on the top level.
(D) S9daad # § DI 7@ . - (D) None of the above _

C010802T ©(16) Set-A



46, SR SNasy an Ry

47.

48.

49,

PR YRy a5 y

(A) S wprg
B) ™Y W gy
© TEFNH Aoy

A\ Ry ALY N
Taey;
(B) T B ayegqeyy N
(©) T A ey

© A W gy o

ST TIR B g

Ry R .

®) ST ¥ B

(B) Hﬁﬁﬂ?ﬁﬂ%ﬁ'ﬂﬁﬁ@%

(© T =Rt & Sig

(D) wAUR-fAzeyr

frfeRaa # & S-a1 scue P oy

AT 81 B ?
(A) IdIE B Wi
(B) ST Aqyaas

(C) S fafaefiezor
(D) A= w9 < B AlHAr

C010802T

Savey

16,

(17)

49,

»
Produey maodifiention strategy I used in

Whicl Stage of product life cycle ?

(A) 1 srowth stage
(1)
(C)

(D)

In maturity stage
In decline stape

None of the above

Main reason for product innovation is :
(A)  High-cost

(B)  Decline in profits

(©)  Technological development

(D)  None of the above

Which of the following is the first step in

New product development process ?

(A)  Product concept development and
testing

(B)  Generation of new product ideas
(C) Screening of new ideas

(D) Business analysis

Which of the ‘following is not a
component of product planning ?

(A) Product screening

(B) Product innovation

(C) Product diversification

(D) Fiﬁalising process

Set-A



s0. Searg uRewr wr arf # -

(A) SaE gwen ¥ gemg ) wEify

B) B gaa A 9T goe )

wgfa
(© FRfefiawor

®) ST A} P T
51. ﬁﬂﬁﬁm#ﬂm‘ﬁ-ﬁ%ﬂﬂam
aﬁ'ﬁhﬁaﬁﬂ'aﬁ=ﬂiﬂ’Harﬁﬂ?m*%_?
(A) Sl TR Rvdyo
B) T yiafiar
(©) . 9o warst % &4
(D) SR Rftrear & w9
52. FIST BT qeg Frf & .
(A) v
(B) 3w
©) e
D) I9gad % % P 78

53, wﬂmﬁﬁﬁmﬂﬁmm
BN A U% A T g e, B B |

(A) @t goe
B) BrT AvE

©) =mRRRE
D) ST ¥ ¥ FF 7

08027

(18)

a0,

51.

32,

33.

Product elimination means ’

(A)  Termination of product in Producy
line

(B) To introduce NEW  produc in
product line

(C) Diversification

(D) None of the aboye

Which one of the following is the bigpag
cause of new product failurs 7

(A) Inz;dcquatc marketing analysis

(B) Cut-throat competition

(C) Insufficient marketing efforts

(D) Lackof product uniqueness

The basic function of branding is -

(A) Protection

(B) Appeal

(C) Identification

(D) None of the above

A brand name which is used for several

products belonging to the same company
is called :

(A)  Individual brand
(B)  Umbrelly brand
©)  Trademark

(D) None of the above

Set-A



s4. oaa Pelr @ ape o

(A)
(B)
(©
(D)

N
v/

Bean famar gg
NE Asdar qive
S wve

TE N
A wRiferener

(B)
©)
(D)

RS

- UHIRER NS

Swi # W B T

ST wmffy

@ Ave R AR e g 2 o

56. ﬁmﬁ%aﬁﬁaﬁq—mnﬁ@mma
forg wenr fovar wmem @ ?

(A)
(B)
©
(D)

U, 9. 3. "D
TS
Syga W 9 BIE T

57. Ui @1 g arf ©

(A)
(B)
- (©)
(D)

co10802T

SIS

g

e |
GINGR: T

(19)

Brand sponsership only under

manufacturer’s brand also called as

A)
(B)
©)
(D)

A brand that is given legal protectio

Retailer brands
Wholesaler brands
National brands

None of the above

called :

(A)
(B)
(©)
(D)

Copyright

Trademark
Monopoly brand

None of the aboﬁe

the

n i

Which of the following marks is being

used for food items ?

(A)
(B)
©
D)

ISI mark
FPO mark
Agmark

None of the above

The most basic function of packagin;

is:

(A)
(B)
©
D)

Appeal
Convenience
Protection

Cost reduction

Set-A



- =
58. UBfoiT . @ fea & 21 358. Packaging is in the interest of -

(A) TdEES (A) Producer
(B) #e=gwy (B) Middlemen
(C) Swten (C) Consumer
(D) 9w i (D) All of the above

59, Eﬂmﬁ?ﬂ?m-ﬂ'ﬂﬁﬁﬁﬂ?éﬂﬁﬂm 59. Thelahlﬁgivcmphasistnsmndmdsw

SR # sEEE @ R awmem o @ E‘“d“a“d““d““i“di'm’mhoduf
product identification, are called :

YA f&y it €, swem £

(A) =S oFe (A) Brand lables

B) - g " o (B) Grade lables

(C) v Tis oEer | (C) Descriptive labels

(D) TudFa F § B T (D) None of the above

60. SUHIFT ERT AT (FUT W) B 60. The correct sequence in consumer

wfsar &1 wé 9 & adoption process is :

(A) B - gdEy T&iHT  — (A) Interest — Trial — Evaluation —
W = _ Adoption

B) TTTHPAT - TWET > TiF (B) *Awareness — Trial — Evaluation—»
_,}s[ﬁm Adﬂpﬁﬂn

(C) ©IMeadl — Sf — W — ' (9N Amrencssl —  Interest —
TS — TR Evaluation — Trial — Adoption

(D) S9ad ¥ | &1 78 (D) None of the above

Co10802T ' (20) Sat-A



61. Hiftr feua i
’j\ﬁ: =HEd Eﬁ Tﬁﬁ'ﬁ 'a ? 61. Price pu]icy is d:ttm'liﬂﬂd hy whom 7

(A) Y= ¥Hag .
(A) Top management
(B) =R wew
(B) Middle management
© = waw
(C) Lower management
(D) SYHITT U9 FHe : ’
(D) Consumer and society

62. memmmmg 62. umubnmmmmwofmme

S & @ SR @ W vaw v & conditions which give value to @
75 fre wEr 2 ? product.” Who said this ?

) TR (A) R.S.Davar

) e aﬁa?-ﬁr - ' .(B} Philip Kotler

© v fis . ~ (C) Ramesh Singh

@) ST & T (D) None of the above

63. fr=ifaiEa # | $F-91 U6 feu-fulRor  63. Which of the following is an internal

FT ARG GeH & ? factor for price-determination ?
(A) HAT BT SFAH T (A) Estimating demand
(B) anfefe aramavr (B) Economic climate
(C) 9WIg Sias-uh (C) Product life-cycle
(D) Tﬂg'lﬁ ¥ A BIE T8 (D) None of the above
(21) Sat-A

co10802T



65.

66.

67.

Co10802T

m:mﬁ:ﬁammmﬁraﬁ:ﬂﬁr‘cm
............. D BRI IR Pt

(A) IRF SeareT ey

(B) IOR I F PR fivge
(© T I EN AR w® oy

R B &7 far
®) sRfa e
FefoRe & 9wt e-icor iy
SRR & qew W Ry B & 2
(A) el o se-Fcor ify
(B) T S Fe-Rreiivor
© =1 R 7eu o Ay
D) SHwT 7 F P T
SfeBT Wiy T ¢
Rarrht e
9= I
P P e
STF 7§ P 7

A
(B)
©
D)

(22)

64,

65.

66.

67.

' (B) Marketing mix

y

Which of the following is an enemd L
factor for price-determination 2

(A) Economic climate

(C) Pricing objectives
(D) None of the above
Generally companies follow a Price ¢y
policy.due to ............ .

(A) Excess production capacity

B) Declining market share

(C) Drive to dominate the marke; |
thj'ough lower price

(D) All ofthe above

Which of the following pricing policy s
based on the competitor’s price ?

(A) Target return Pricing policy

(B) Cost plus pricing policy

(©) Going rate pricing policy

(D) |

None of the above
‘Skimming price’ is :
(A)

(B) High price
(C) Relatively low price

(D)

Discounted price

None of the above °

Set-A




o Pl o 1’000. » T R 68. To fix the price 7 999.50 of an article
ad of T 1,000, is 2 policy of

------------

¥ 999.50 fYiRT & ..., o Afey 2 inste
(A) WSS You- o - (A) Promotion pricing
®) R S gea-Frfer (B) Customary pricing
© SIS ou-frior (C) Psychological pricing
(D) H‘Jﬁ?ﬁﬁﬁﬂﬁﬁﬁiﬁ R s e (_D)__Noneofthcabo"e _
69. e fofr & frefafea % & 69. Which one of the following is the e"h“’al
DIF-T aﬁ"ﬁ? el % ? issuesin pricing decisions ?
@) e MR der ' (A) Price fixing
®) W AEE ®) Price discriminatioin
©) S IRMFE qed FriRe (C) Price skimming
(D) Sufad &I 0E 3 D) All of the above
70. TS AT W4T & fFEfRad ¥ ¥ 70.  Which of the following component of the
DIF-9T Heh BH Bl armbear i - ~_product or services _determines the
TRIE? | profitiability of a firm ?
(A) SIS 3HefAT AT B IOra (A) Quality of the product or service
(B) ST | (B) Branching
(©) Hea-fAEiR 4 (C) Pricing
©) SHEw ¥ ¥ B &l N (D) None of the above
71, fiRYr S@ens &1 99 f69d gNi féar  71. The selection of distribution channels is
T & ? . " ‘determined by :
(A) SdE P fbew (A) The type of product
B) TWR &I ;@f?{ (B) Nature of market
(C) SR B HY amed _ (C) Buying habits of consumer
D) Sugw e (D) All of the above -

C010802T ) _



72.  faoRoT @ 99 B swar @ -
(A) TSN e

B) T gaEen
©) WH-wE SEen
D) TI-KRYG §@ar
73. TGSl BT QI TR D B A 2 3
Fe= ot fadar & st F v @ gy
ST |
A) Hvor 3y
®) ¥y sifer e
(© ESidr famy
©O) ST H § B 7
74. mmmwﬁmw—mm
& R a8 991 & Weg @ Al T4
&I, 95 7 ¢
(A) T
(B) HARE AR
(© U
(D) Sua F ¥ B &

20108027 (24)

72.

73.

74.

Shortest channel of distribution is B

(A) ~ One-level channel
(B) Two-level channel
(C) Three-level channel

(D) Zero-level channel

A practice of placing goods in the hands
of middlemen with the title and contro]
remaining in the hands of the seller is

termed as :

(A) Consi gment selling

(B) Franchise selling

(C) Symbiotic selling

(D) None of the above

Middleman when generally handles the

goods he sells but does not own them,

are :

(A) Brokers
(B) Commission merchants
(C) Traders

(D) None of the above

Set-A



75 forer
U A AEI B G S )

76.

77.

C010802T

iilafiﬁﬂ?ﬁﬂ}mmﬁhﬁmuw

TETE P

(25)

75,

76.

77,

Distribution 0 which only 0@ ar yory

few outlets dstribute

n
(A) qeleclive 1I|nlrllmilnu

(1) [xclusive disteibution

(C) [ntensive distribution

(D) None of the nhove

upecentralized buying with centralised

selling” is a featurc of whom 7

(A) Departmental stores
(B) Chain stores
(C) Co-operative stores

(D) None of the above

Physical distribution is the basic element

OF L usrnspsersse’s

(A) Market s:gmcntatiun

(C) Marketing mix

() None of the above

Set-A



s S
78. W) 3. vw. W apf 2 78.  POS stands for :

(A) R a5 arafy

@) Q) o=

© 3P @1 fag

@) ST F & B 7

79, UH. TH. AR, ). o7 apef 2 .

(A)  Period of sale
(B)  Point of sale
(€©)  Point of store

(D)  None of the above

79. MSRp stands for :

(A)  Maximum suggested retail price

(B)  Minimum suggested retail price

© fafmiar &NT IR BEMR g ©) Manufacturer’s suggested  regy;
price

D) Suga § ¥ BIg TS (D)  None of the above

80. WRa # g . @ fawra @ = 80. What is the main reason for growth of
DR a7 2 ? ' retailing in India 2
A) @ug § afe ) (A) Increase in consumption
B) YTHIR (B) Mass cofnmunication
© 3ITgH Qﬁ-e' (C) Increase in income
D) Y& ¥ § B T (D) None of the above

81 frafaRea & ¥ e P WIS s . 81, Which one of the following is not an
T e T L ? ' element of promotion mix ?
A) fgmua : i SO "=t~ ..(A)  Advertising
B) fFrg ey (B) Personal selling
©) fexor : (C) Distribution
®) fawyg HE,'T.J?{ | (D) Sales promotion

Cco10802T



82. mwﬁm@m@%m}

83.

84.

85.

(A) WS A
(B) & @
(©) YFd&T
D) SR T A B 7
——r
(A) ﬁltrvm fRysror
B) i
(C) SYMIHT &t f
(D) SWYW F 9 B T
T sy ........ T8l B
(A) AR B W AR W
(B) IFIddfdtd FHYT .
(C) TFEAR
D) SHw A A PR T
‘DAGMAR ............ N T &1
(A) fama g
®) fasm
(C) wfdra fasma
(D) YER U§ WD
(27)

co10802T

82.

83.

84.

85.

The communication process of choosing

symbols thought is

that convey

Messaging
Decoding
Encoding

None of the above

Which of the following is a controllable

' variable of communication ?

(A) Marketing mix
(B) Competition
(C) Consumer taste

(D) None of the above

Personal selling is not .......ccceee :

~ (A) Face to face contact with buyers

(B) Interpersonal communication
(C) Mass communication

(D) . None of the above

‘DAGMAR’ vrcfers | ——— /
(A) Sales promotion

(B) Advertising

©) _Personal selling

(D) Publicity and public relations

Set-A



- 87.

88.

89.

@A
(B)

©
()

Cco10802T

.............

(28)

86.

88.

- (A)

(D)
89.
- mahagemen't

"Ihe life of outdoor media of ad"el'tising
IS ceeertiiinn, -
Limited
Very limited
Longlife

None of the above

Which of the following is a POst-test g,
Measuring advertising effectiveness 9

(A)
(B)
©
(D)

Enquiry test
Recognition test
Recall test

All of the above

Which of the following is a pre-test fo,
measuring advertising effectiveness 9

Direct rating test
B)
(©)

Laboratory test
Opinion test
All of the above

- The amount carmarked by the top

for advertisement s

called .............. '
(4)
(B)
©)
(D)

Adbveritising appropriation
Advertising iayout
Budget

None of the above

Set-A



fal ¥ a%q S fe U 90. Sales promotion item distributed by
Trﬁ‘ NG P B B . 3:;13: retailers to consumers in pmportioin to

the amount of the consumers purchases,

.............. D
o I gl is known as ......ceeees ;
(A) B fadar @ aug '
B) we-fag wnh ~ (A) Retailer’s coupons
©) auR® feae (B) Point of purchase material

(C) Trading stamps

©) Sww F B T
91. M@ ... Rl DI S qEHa 2|

(D) None of the above

@A) - 91. Service cannot be .c.cceceeeremesees .
®) '\‘i‘fh (A) Touched
© = vl et
 (©) Seen
_ Uk . . _ - (D) All of the above
92. ‘BRa RUo ... @ & R 99 “Green Marketing’ is a contribution of :
(A) RECEEEl (A) Consumers
®) W . B) Society
©) ARt (C) - Enviromentalists
©) w4 J P T - D) None of the above
93. ®Ra RwM & TRI Ao @ &%  93. Due to Green Marketing the scopé of
________________ F1 & Tl 21 marketing becoOmes ......cuecensee « :
(A) WoT XN (A) State level
(B) TS WR _ (B) National levc;l _
(C) IR |R (C) - Inernational level
D) qu_‘ﬁ ¥ q P T | (D) None of the above

C010802T (29) R ‘ Set-A



04. & viftewcave drsgda (A8 @ a@fem) 94. ‘The Agricultural Produces (Grading ang

T i . ¥ @ 3 | Marketing) Act was enforced in ........._ .
(A) 1937 : (A) 1937
) e B) 1948
(2 oM ©) 1954
(D) 1958 (D) 1958
95. fAmaiaer=T Har ........... &1 fewar & | 95. Aftersales service is a part Of.ccenee. .
(A) fisma Haeda (A) Sales promotion
B) fuorE | . (B) Marketing
(©) famxor (C) Distribution
(D) Sudaa # 4 PIE eI (D) None of the above
06. 9=t fagoa | qe& U& B 96. In the relationship marketing, the key
party is :
(A) TES . _ (A) Customer
B) fAw® (B) Distributor
(C) {Hﬁf (C) Supplier
(D) G’Cl'éﬂ'ﬁ 0 (D) All of the above
97. &Ra fawvE & ... ¥ Fordid! w1 97.  Green marketing is closely related with
gl
A) "iRRefas fageE (A) Ecological marketing
(B) g@;ﬁﬁm g (B) Natural marketing
(C) gyfavor faguE (C) Environmental marketing
(D) qq‘ézfﬂ il (D) All of the above

0108027 (30) Set-



o, W o o @ o Al g Sationship merketing frs focus o0

e T g fag e o S long-term relatioship With . :
g @ €
(a) TE (A) Customers
B) et (B) Stakeholders
© @™ (B) (C) Both (A) and (B)
D) SHE % o T ' (D) None of the above

g9, WG ¥ WBI & *Ecomark’ A T 99. The authority to implement ‘Ecomark
< aren WiEe g scheme on voluntary basis in India is :
(A) wafaRer T et (A) Environment and Pollution Board
) P wyr AT S (B) The Central Pollution Control

Board

() i RS FEET A (C) Eco-Planning Management Board
(D) G":Iﬁﬁﬂ A DR BE (D) None of the above

Pt ¥ ¥ @E-W U@ wmfs 100, Which one of the following is an element

100.
o &7 27 of social marketing ?
(A) FHEE AR @ wre | (A) Satisfaction of human needs
@) fuE ® frart @ qmf® | (B) Extensions of ideas on marketing to
% RER social fields )
(€) wmifor® waEl W e ol (C) Consideration of social impact
(D) WY Wi (D) Allof the above

co1g02T (31)
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(C) vfaEm
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(4)

L.

The historical rule of human resoyre,
mam_gfﬂ}tﬂt s

(A) One HR person for 100 employees

(8) One HR person for 300 employees

(C) One HR person for 500 employees

(D) None of the above

“You must treat your employees with
respect and dignity.” Who said this ?

(A) Edwin B. Filippo
(B) Billgates
(C) Narayan Murthy

(D) None of the above

Human Resource Planning is essential for

provide a base for ......cccoueee «

(A) Recruitment
(B) Selection

(C) Training

(D) All of the above






10. AV TR B OSET F gww wew 10, meﬁmstepinthepm%ufm

g g | 1t A aanulglt
(A) fovesl &1 g Ty (A) Evaluation of altemgjy,
B) A » fory S PuiRe Fe (B) Set the objective for g, plan
€) frafafy o S & (C) Implementing a coyrga ﬂf’-"tlinn
(D) Wﬂﬂﬂ i B T8 . (D) . None of the above
1. Srifts e et &, wiffy 7 - 1. Manpower planning is importap, becayg,
it:
(A) D B 0 W e 2 (A) Avoids skill shortage
-(B)  WIEYAS Ao @ v (B) Requires careful planning
© el w9 ¥ T a2 (C) Avoids unexpected shortage
D) I Wit ) (D) All of the above
2. 99 WM yee fiem o T §eey 12. The key objective of the humap resource
e | management span right from the ———
(&) TRE Imavaman (A) Manpower needs
(B) WSS aaeuaan (B) Organizational needs
(©) 3ieifie sravgearn (C) Industry needs
D) IRF % § B 78 (D) None of the above
13. FefeRe & ¥ s o WHEA 13, Which among the following is an
TS & 6T w1 @y TR ? example of operative function of human
resource managers ?
(A) fm (A) Planning
®) o _ (B) Cluntrulling
(C) @waiar #t mity (C) Procurement
(D) Uﬂgﬂﬂ i 9 @'{ Rl (D) None of the above
0108037 (6) ' Sat-A

1 P
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15

16.

17.

Co10803T
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®) wET E W

€ oo FRew

) ST W SR W

TwEER TEa @ W S fR|
A=t § 3 o9 w0 WS
ST R?

&) IR I=

®) R

(€) == =i

(D) S A ¥ TE 6

el 3 S oo S SEEe @
AT @ WeEn TRal 8 ¢

(A) Fs=@

(B) WNe

(C) wEe

©) T A IR T

fr=fafen § § 991 1@ AFmd SaEE
TR o g ?

(A) ¥INS oM
B)  THIN® I
) fiftresd

(D) W T

(7)

15

o
L¥ ]
L]

16. .

17.

The tesm ‘Procurement” stnds for - '
(A) Recruitment and slecton
(B) Training and development

(C) Manpower planning
(D) Noae of the shove

“mmmgmﬁuumingmmis
the most relevant for recruftment of

mansgerial persoans] 7

(A) Employment Exchange
(B) Advertisement

(C) Direct Recruitment

(D) Nene of the sbove

Which among the following guides and
oversees his subordinates directly ?

(A) Manager

(B) Administrator

(C) Supervisor

(D) None of the above

Which one among the following is a role

planning

of  human resource
professional ?

(A) Administrative role
(B) Strategic role

(C) Specialised role

(D) All of the above









o, wird fazaney v wiz 3-faas g 24. Job znzlysis is 2 process by which -

h) wik % Fagm @ 7o T (A) History of 2 job is stodied.
G|

(B) yar % yoy A G @ A da (B) Job is ascertzined by money vap,

ol &
©) @i B wafad. sEay a2 g (C) Pertinent facts about a jop .
na # AT

(D) Syt i wE A (D) None of the above

25, frfafar % @ 9w @ @ fawgwr 25.  Which among the following is not 3 pay

. g
@1 Ay T S ? ofjobanalysis's
(A) Job description

A) @1 fagror
) @ fafder (B) job specification
©) @ ugfic (C) Job satisfaction

(D) G‘T{{ETET W B TS (D) None of the above

26. o AR @ aref B 26. Job specification means :
(A) T orf ® Teq o ffde prar &1 | (A) It specifies the worth of job.
(B) 4T qarn & 6 w1 H FRAr B ? (B) Ittells how to do a job ?
©) ¥e s & foy emawd @, - (O) It specifies the skill, qualification
v ek 3T A Affe Fwar and experience required for the job.
el

(D) None of the above

(D) S 7 W P T

Set-A

C010803T (10)
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27.

28.

29.

30.

C010803T

waRa @ g el ) ai IL I
WA R v Qi s
(A TRl ARy

(B ®rl s

© Wl Wiy

) P Wyl

mi@ﬁ“*mm 28.

SEEN W= e # )
(A) w1 # fwr

®) o B T

©) o w1 Raw

(D) SwE d | B @

i faawor % - Wi € 29,

(A) Fl @ I
B) el @ RefE
©) waal o1 Refe

@) s i
‘Tcﬁ'ﬂﬂaﬂfﬁ_: 30.

(A) T@ ¢ @fd B e o
(B) ¢ SHiIEaRl @ g T
(©) a4 & fe eefgaRl @ sTEfta

Al
@) SwdF A | I 7

(1)

Vw2,

|1|“ "‘"hp ll'l-ll frirafe :ﬂ‘"‘"f""ﬂ'”ﬂﬂ fﬂf

employecs whit Is TE N
(A) Joh specification
(1 Job avaluation

(') Job enrichment

(D) Job satisfuction

.............. provides necestary information

for job evaluation.

(A) Job enlargement
(B) Job ranking

(C) Job description

2
(D) None ofthe above
Job description includes ..oeees - i

(A) Conditions of a job

(B) Record of responsibilities
(C) Record of duties

(D) All of the above

Recruitment means :

(A) Appointing a new person
(B) Selecting fresh candidates
(C) Auracting candidates for job

(D) None of the above

Seat-A
















33 sha o e

it Vo B

E:'ﬁl":%?

(A) TEeE I gER oY £

(B) @Fl 3 Yeaew o=l 3wy
CEEME | Wl ol &

() ﬁﬁ#ﬁﬁﬁamﬁma}ﬁv
% F3] O Y T §

(D) =9 5 4 o1 78

o= e o @1 e PR W w
B TR 3 sRorraey WRom @
fol2 2 =0 4 —— o Rt
T3 2|

(A) FeEiea

(B) Fmre

(€ fafem

(D) W9gda 4 ¥ 77 78

Co1oeoar

(18)

- b .
Siral PAalkd]l @

S

45.

Which among the fullm-.ring

responsible for employees’ training 9

(A) Personnel Department
(B) Top Ma:nag:ment

(C) Line Supervisor

(D) Nnﬁe of the above

Which among the following is a benefit
of employee training ?

(A) Improve morale

(B) Helps people to identify with
organizational goals

(C) Provides a good climate for

learning, growth and co-ordination

(D) None of the above

- is defined as a record of
outcomes resulting from a particular job
Or &n activity at a specific time.

(A) Evaluation

(B) Performance

(C) Specification

(D) None of the above






50.

S1.

2.

53.

C010803T

- (A) mmm

(B) dfdd Fures 3 |99 oy
(C) PN & WR qipd W Tl
BT

D) S ¥ ¥ P T

540.-.% 'ﬂ a . ﬁ Q-a’; [ '

GRCIE
(A) WRERATT -

B) D
C) w&H -

(D) SWad # ¥ P T

(18)

50. Performance appraisal evaluates the

3L,

53.

performance of :

(A) Employee
(B) Empioytz_r
(C) Organization

(D) None of the above

Performance  appraisal is  meap

(o) (R . _ |
(A) Promoting employees
(B) Improving efficiency
© Rt’:\avart‘iint;,:r employees
(D) All of the above

The last step in the process of
performance appraisal is :

. (A) Taking corrective action

(B) Méasuring actual performance

(C) Discussing appraisal with employee

(D) None of the above

540-degree . feedback is a
method of appraisal,

............

(A) Traditiona]
(B) Modem

(C) Ancient

(D) None of the above

Set-A



54. Management by objective (MBO) is 2
) R A Pres technique of :
(A) Grievance handling
®) wRwEm N
. (B) Training
C) ¥cuid+
(_ ) (C) Appraisal
®) ﬁ ¥ ﬁé e (D) None of the above
s5. Prfafad § ¥ @@ 6 P 55, Which among the following one is not @
I ol fafer & @ ? performance appraisal method ?
(A) E'[§|EIEI W’T"R?ﬂ@f (A) Balance scorecard -
; (®) 360-fAt e 'ﬁﬂiﬁiil (B) 360-degree performance appraisal
(© PR (C) Interview '
(D) TPMIHD ﬁﬂﬁ'@%’ (D) Economic value added
s6. waaal @ fou frees fiew gl 56, Performance development plan for
s ETQTF o | employees is settled by ......cceueeeee \ '
(A) ﬁqﬁﬁu e (A) Departmental Head
(B) HFa G YIS - (B) Human Resource Manager .
©) T ARBRI (C) Immediate Boss
D) SwdE A | DI T (D) None of the above
57. Preffug P e @ fRd o T Whiclims:;nong the following performance
_ 2 appraisal methods consumes a lot of
A R S ART T A § b ot o
(A) TE T FEcidT (A) Tests and observation
B) Hediw P YA (B) Rating cards scales
©) fa oE (C) Essay writing
©®) Suiw § A B T (D) None of the above
Co010803T (. 19). o
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A

58. @HANI HRwEr T " @ gfif @ oy 58 Employee training requires to mey

m _% l ..................
(A) X B A (A) Job requirement
B) P fagemor : (B) Job analysis
(©) W G ; ‘ (C) job enrichment
(D) IR & A PIE TE (D) None of the above
59. PN THIGT Uh TG & el 9ol 59. Job evaluation is a technique which ajmg
R TGl -a . | _ 2 | S s . _
(A) SR § GuUR (A) Improving productivity
B) F [ B IEWHAAN Bl (B) Assessing safety requirement of job
(C) Sfua 6§ HETa daF-aRa @ (C) Establishing fair and equitable pay
ﬁﬁh ' _ structure
(D) Tﬂéﬂﬂ 79 BIg el (D) None of the above
601. HETCHR (vﬁ o warm fafy ‘Tﬂlﬁ-ﬁg 60. Who has introduced the ‘Seven Point
AT ﬁﬁ,—ﬂqwmp Plan’> for taking the best interview
. method ?
A) . TP ﬂm - (A) Prof. Alec Rodger
B) &t | (B) Herzberg
© T e (C) Vroom
D) G‘Téﬁﬁ LR (D) None of the above
61. 3FTHT " BT T 3 R | 61. Induction is an integral part of ......c.eeees :
(A) il (A) Recruitment
B) 9T ' - (B) Selection
(C) W .~ (C) Training
(D) G'il’{iﬂﬁ L I T ' (D) None of the above

C010803T | (20) Set-A






c6. Pt 3 ® F-w g 1 uRoms 6. Which among the following is nota resy

we? | of separation ?

(A) FIPI « (A) Resignation

@®) e ; (B) Suspension

(C) IR (C) Transfer

O) ST H 9 PIg ol (D) None of the above

67. Freffam § § @ o9 femgd & 67, Which is not a model of job-design ?
Hiedt T ? |

(A) WIS T Hied (A) Socio-technical model
@) o fadvan died (B) Job characteristics model
(C) JRFGa Aed (C) Contingency model
D) TAFaH Hisd | . (D) Latest model

68. FId A frad W SRW Bl & ? 68. Work measurement starts with whom ?
&) T B forg B A | (A) Listing of task to be measured
®) e TR F1 ApRHRT B) Standardization of office activity
© friem - (C) Planning
©) HH F A P T D) None of the above

69. THEN Wied W | W ﬁﬁﬂﬂ g/ 69. Employees is voluntary separati(;n from a
iy @ fow Al J o B T g, job for a certain time period, known as
T e ..
(A) PR " (A.) Downsizing
®) ved ‘ (B) Layoff
(€) 3fewE ' (C) Acquisitions
) fiem (@) Mergers




71.

72.

73.

C010803T

R 7R e A s wE @)
= 3 5 o i ban Wl B |

(A) SHER

(©) 3FrTaT

@) T A § I Tl
e ?

@A) TeTHE
@) tex gax 1@ ST AU
(©) vefo . fforar
©) S ¥ I Tl
e o i & 2
(A) vﬁﬁﬂﬁﬁﬂﬁﬁ

®) TORE fagvarg

(C) T faRway
) - S

70.

71.

72.

73.

(23)'

The dismissal of the employee, WhO

violates law of contractual arrangements
stated by the employer is classified

a8 suiiviseisaniance .

(A) Wrongful discharge
(B) Wrongful termination
(C) Descriptive termination

(D) None of the above

The employees inability to perform
assigned task is classified @S ...oasasesenese .

(A) Misconduct

(B) Lack of qualifications
(C) Insubordination

(D) None of the above

Who laid the foundation of Human
Resource Management Practices ?

(A) Elton Mayo

(B) Peter Drucker and
. McGregor

(C) EdwinB. Flippo

Douglas

(D) None of the above

What does a Job specification include ?
(A) Personal characteristics |

(B) Physical characteristics

(C) Psychological characteristics _
(D) All of the above

Set-A



74.

75.

76.

77.

C010803T

@ afm B ) o W g e
o o @ U e §1

(a) TR B P

®) R Y @

(C) . HiRvET

©) SHF § | B Tl

T ¥q, WS PHAN @ g et @
9 & W afagfd Fer gl

) 15

- ®) 20 e

©) 25fem
D) 30 fed

ol R & wreh & @ ol 2

(A) Irar

®) T Fra |

(C) @/l M¥® T4 B BT ARy
D) S A I T

- afie @ AR @ Ry aE @
3T T & |

() Hafgfy

®) e

© uHf

©) S ¥ ¥ B T

(24)

74.

75.

76.

77.

For closure,

The procedure of fitting the right person
into the right job is known as ............ i

(A) Placement of Employee
(B) 'Maintaining records
(C) Administering tests

(D) None of the above

each worker has to

. compensate With .............. average pay

for each preceding year of completed

service.

(A) 15days
(B) 20days
(C) 25days
(D) 30days

What is included in tﬁe content of the Job

description ?

" (A) Skills

(B) Educational qualification
(C) Jobtitle and work environment

(D) None of the above

--------------

make a disqualification Of.'
employee for future employment.

(A) Retirement

(B) Discharge -

(C) Dismissal

(D) None of the above

Set-A



79.

80.

C010803T

@) 5 (ot )

®) T

(;:) freprer L
O SHmAAAE T

IRE @ PN @ mﬂﬁa‘x‘ﬁ@
o e @ fiwga B & & 79

) T R
® o v

(©) TR aE

©) v R

- (25)

80.

+ The career path model in an organisation,

initiating career planning can importantly

form the basis fOr .....uereessesess .

(A) Rotation

(B) Placement
(C) ‘Transfer

(D) All of the above

..... sereeniie iS temporary closing down the

undertaking with the intention of forcing

" workers to accept the demands of

employers.

(ﬁi) Layoff

(B) Lockout -
(C) Termination

(D) None of the above

The provision of training and practice is

" an increased range of skills is known

as:

(A) Job analysis
(B) Job enrichment
(C) Job enlargement

(D) None of the above

Set-A
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(A) fiam 44

®) fAm s0

(€) fiEm 51

() IR § ¥ P T

W o shw Wew bR @ 82

S A & e v @ e

© WY W T Wl & ?

(A) IHRTH IFmE
(B) Wfd srH

© B oy swr
©) IHF A § B 7

Wﬁw(ﬂvﬁ)w,ima‘?ﬁm

48/48A B TET Whow Aaifighy 3 fg
M Wor 7 B fry v s
aTR?

(A ey

{ﬁ) Fafs afterd
() IS
O) Sfw | | 7 7

(26)

83.

Retirement/Death Gratuity is eligible to 5
government servant as per which rule of

CCS (Pension) Rules, 2021 ?

(A) Rule 44
(B) Rule 50
(C) Rule 5l

(D) None of the above

What type of leave can run concurrently
when a official gives notice of voluntary

retirement 7

(A) Casual leave
(B) Accumulated leave
(C) Sick leave

(D) 'Nnne of the above

Who is the authority competent to accept
the notice for voluntary retirement
tendered under Rule 48/48-A of CCS
(Pension) Rules, 1972 7

(A) Head of department
(B) Appointing authority
(C) I?{i-sciplinary authority
(D) None of the abave
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gz
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FHaIRal @ e
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© T g wfomy @ g A
e, faddh wee Hanm e
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faframy

0) S 7

TR WTeA §N U R W g
AT W a7 @R ol

Rl

(A) ©NG] AT WO Tae
(B) RIS AT WM Y

(0 Ufed THT WA e

(D) TN yaw

m@fnﬁﬁﬂ;%?ﬁﬁﬁ-ﬂ?ﬁﬂ? 90,

Tﬁﬁﬂﬂﬁﬁﬁ:
(A) WM& aEER
(B) uemER

©) T +firw gfawr
(D) WM aER 5

(28)

88. A major difference between internationa

89.

HRM and domestic HRM is the

(A) ‘number of employees covered by
the human resource policy

(B) development of effective cross-
boarder management

(C) increased complexities such as
currency fluctuations, foreign HR
policies and practices and differing

labour laws

(D) None of the above

HRM as practised by multinational
organizations is called .................. :

(A) Domestic HRM

(B) International HRM

(C) Global HRM

(D) Personnel Management

Fraud, bribery, graft and ‘payment of
secret commissions is called :

(A)" Standard behaviour

(B) Corruption
(C) An ethical dilemma

(D) Normal business conditions

Set-A



91.

92.

93.

Co1o0803T
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91.

92,

93.

Trust is influenced by ....ccoominasae

(A) Ethical standards
(B) Culture

(C) Philosophy of life

(D) Personality

The particular approach- used by a

manager to achieve goals through other
people is described 85 ....oocvivnsienns 2

(A) Leadership
(B) Situatioanl behaviour

(C) Management style

(D) Achievement approach

Human Resource issues that will rnq!_.lirf.:'
adaptation to fit different cultures include

. all of the following, except ....owcvvieee «

(A) Job analysis

(B) Training and development

(C) Performance appraisal

(D) None of the above
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(30)

94.

= 95,

96.

Developing the long-term  businegg

relationship needed in joint ventyreg

requires :

(A) The buil.ding of trust apg
commitment o

(B) Large financial investment

(C) Effective management skills

(D) None of the above

Good industrial relations means :

'(A) Emphasis on collective bargaining

(B) Faith in worker’s participation in
management
(C) Adoption of bipartitism

(D) All of the above

High rate of absenteeism reflects :

(A) Warmnipg sign of law morale
(B) Lack of knowledge
(C) Lack of co-ordinal relationships

(D) None of the above

Set-A



98.

99.

100.

(®B) w@qﬁmaﬁmﬁa

(€) TIHT P smawdarR B g
(D) S |

fow yR @ WREon § FHEN 3R
g gfafafr o @ 6e, wgd &R

TR @ Raf | el e § B

T % % i fn o g
(A) g wanh

®) MR Wah

(C) TP Wiearl

(D) I R P A

Cotoso37

(31)

97.

98.

99.

100.

Which among the following is not
relevant of collective bargaining ?

(A) Collective bargaining conviction
(B) - Trade union recognition

(C) Right to strike

(D) Consumer Protection Act

The second step in positive discipline
approach is :

(A) Final warming -

(B) | Discharge

(C) Counselling

(D) None of the above

The performance appraisal are basically
used by organizations to :

(A) Defining needed capabilities
(B) Administered wage and salaries
(C) Fulfilling staffing needs

(D) Al of the above

The kind of bargaining 'in which the
workers and management representative
negotiate working hours, wages and
employment conditions
B s :

(A) Union Bargaining

(B) Collective Bargaining
©) Descrif:tivc Bargaining
(D) None of the above

Set-A .
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AT T B P A qER R
(A) ST drr

(B) WMFI 41 BRI q

(©) favweh i @l &

(D) dfdT e @ @

35 1 A T° ® W & swh @
sfoRed s & HRfRl T RmE
WM @ foy fem wfem W@ <@
R

(A) ﬂ%‘ﬁ’rﬁ?:rﬂaﬂ:m%-

B) '{E"WETSU%

©) ?j&'mﬁm—ﬂ:rs%

(D) & WifvTT a1 100%

e s | e 9 AfF g G

MTWWMWg,
ﬁmﬁﬂﬁﬁgﬁmm ............. “ﬁm

T8 Bhm|
(A) 10%
B) 11%

© 5% .

D) SHw ¥ W DI T

(3)

No claim bonus is related to :
(A) 'Life insurance company

(B) General insurance company

(C) Electricity company accounts

(D) Banking company accounts

If nothing is given what is the percentage
maintained by insurance companies other
than marine insurance company for

reserve for unexpired risk ?

(A) 40% of net premium
(B) 50% of net premium
(C) 75% of net premium

(D) 100% of net premium

If there are more than one managing

directors or whole time director or

manager, remuneration shall not

[ - ' [ — of the net profit.

(A) 10%
B) 11%
©) %

(D) None of the above

Set-A



4. Issue of bonus shares py subsig;
company out of capital profit will be .,

(A) Frim @ 5 w0 (A) Decrease of cost of contrg|

(B) Frimor & s ¥ g

(B) Increase of cost of contro|

© o & amE w o W (C) Have no effect on cost of copyrg
D) wﬁ § 3w 78 (D) None of the above
5. v o e st 5. The main object of amalgamation is:
(A) wdt § Parar o (A) To minimise the expenses
®) faawor 3§ g @ (B) To facilitate distribution
() witref &1 | FRw (C) To eliminate competition -
(D) SodE Wi (D) All of the above
6. R siw Frifva 52 o & | 6.  Right shares are issued to :
{P;} i @ fory wadel & (A) Promoters for the services
(B) URaTHIT FoGAl & aRD| FI (B) Holders of convertible debentures
(©) ferm siwmrRal &t (C) Existing shareholders
@) e Wi | (D) Al of the above
7. sowa ivenal @1 R ffm Red ¥ 7. Minority interest will be shown in the
T S . consolidated Balance Sheet on :
(A) oty e o (A) The Assets side
®) i o ¥ (B) The Liability side
(€ w7 (C) Nowhere
©) ST A ¥ o 7 (D) None of the above

Co10804T (4) sot-A



8. fimfoafea & ¥ o R sy
friftg o @ forg @ T8 R o
Heel & ?

(A)
®B)
©)
(D)

i D

Toll @i By
Wmﬁwmqﬁgqg |
fafaiT W w9y

TR @ G BT A §
@A) T D R §

(B) T B ARG YRTH V-
(© S TE R §

@) T D ARG T e Wacd &

10, T T @ RS Pl dg @ 0

e ‘v fa ug Yy o @1 e

2 8, e Refy &

A) T’ R @
(B) TdIdRY Bl

(©) 3raRa® gafmfor ot
©) SHwE F F 7 TE

11. aﬁﬁﬂ:‘mmmﬂéﬂ%

(A)
®)
©)
D)

Co10804T

Td g

(5)

Which of the following cannot be utilized

- - ?
for issuing bonus shares

(A)
(B)
©)
(D)

General Reserve
Capital Redemption Reserve
Capital Profit not received in cash

Investment Allowance Reserve

Reconstruction of a company means :

(f;t)
(B)
©
(D)

Reconstruction of company
Internal change of company
External charge of company

Internal and external change of

- ‘company

Two companies A Ltd. and B Ltd. go into

liquidation to form a new company C
Ltd. It is a case of : |

(A)
®)
©

- (D)

External reconstruction
Amalgamation
Internal reconstruction

None of the above

Commission on re-insurance dedicated

1s:

(A)
®8)
(©)
(D)

An Expenditure
An Income

An Asset

A Liability

Set-A



12.

13.

o R T A WS G D
T 27,000 B A FT A R ﬁ,nuut‘i
o @), R R dar @ B
WG T 6,000 FT A XY B, AW T TG

BT TR B

(A) %500

(B) 21,500

(C) 2,000

(D) 4,500

) o 1 G e

(A) w@ax By

B) Rl wenfe |
© il & Pl & wa o

(D) wegE Wi

14. IR gafmior 4

C010804T

(A) B 0 TR F TS o 2
B) Hac TH SR GG F T 2

(©) < ur e FfaEl & e B
| gl

D) W u ARF swfEi e o
ot # |

(6)

12. If a holding company sold googs
Co

- 13,

14.

@)

’
2 27,000 in T 36,000 to i suwﬁ‘ma
fary

company and on the date of Prepara
of cnnsuli_dated Balance Sheet "
subsidiary company has the Stock of
T 6,000 from that goods, thep Unrealiseq
profit will be :

3500

(B) 1,500

(C) 2,000

(D) 4,500

Sources of buy-haék of shares are :

(A) Free Reserves

(B) Securities Premium

(C) Amount received from issue of

securities

(D) All of the above

In internal reconstruction :
(A) No company goes into liquidation.

(B) Only one company goes il
liquidation.
(C) Two or more companis °

liquidated.

; into
(D) One or more companies 8¢ 3
liquidation.

satA



1. YA ot 3 Wemw ) & w15, Dividend received by holding company

A, S WENE ) 3 ey v from subsidiary company which is
¥ o B o ¥ @ AR P . distributed by subsidiary company from
’ its pre-acquisition profit, will be credited
& |
in:
(A) @mrE @ § (A) Dividend Account
(B) wm-gif @ (B) Profit and Loss Alc
(©) wm-gif o @ 3§ (C) Profit and Loss Appropriation A/c
(D) WEWE W @I @ e i (D) Inwstrpent in Shares of Subsidiary
fafrT | ~ Company Alc
16. forer g @y witnfer 8 2 - 16. Divisible profit does not include :
(A) M-8 G o 9y (A) Balance of P& L Alc
B) Yull @m ; (B) Capital Profit
(C) WABEH & TIER BT AN (C) Post-Incorporation Profit
(D) ¥ Py (D) Reserve Fund

17. 9RdE @A 3ffrm, 2013 % yeww & 17, Indian Companies Act, 2013 contains the

forg wRef® &1 graam & - provisions  regarding  manager
remuneration in :
(A) ®RT 309 (A) Section 309
(B) 178 (B) Section 78
(€) ©RI 378 ~ (C) Section378
| (D) ©RT 197 A (D) Section 197

C010804T . (7) Set-A




Wﬁwﬁ%mwﬁr%w‘%

18.
s T 250000 F B R W WE(S
WS S o) frita goi < 2,00,000
T 59 @ Y ® §99 o SR
T 1,00,000 ¥ T U o wud @
<IRT &

(A) ¥ 70,000 (=)
®) < 70,000 (o W)
(C) T 1,40,000 (&:Aic)
@) < 1,40,000 (G5 ©=9)

19. WMo ® @ @ aFl @ W@ 5w
S| @ foy foar w1 w@ar &2
(A) THIT AT @ fom
®) 3w w & TS R
(C) Hiia @I UGG o1 @ foT
©) ST AW oE T8

20. T IEATE, 2013 B IFER, @
TAN T BN T@ign facel @
TPIeA AH-aN R 3R we & -
(A) Fiard
(B) IeicT®
© fitg

O SHmIIE A -

Co10804T

(8)

19.

3 1,00,000. Amount of gooduiy o
capital reserve will be :

(A) 70,000 (Goodwill)

(B) 70,000 (Capital Reserve)

(©) . % 1,40,000 (Goodswill)

(@) ¥ 1,40,000 (Capital Reserye)

For which purpose pre-incorporation
profit may be used ?

- (A) todistribute dividend

(B)_tonﬁteoﬁ’lossonre—iasmof
shares

(©) to write off goodwill
(D) . None of the zbove

According to Companies Act, 2013, the
preparation of consolidated balance shest
and statement of profit and loss by 2
holding company is :

(4) Compulsory

®) Optional

(C) Prohibited

(D) None of the above



21, wErn 4 @ % @8 % fe 21, How many schedules are incorporated in

ﬂ]?{fﬂlff 7 the Balance Sheet of general insurance
company ?
(A) 11 :
B) 12 . L
B) 12
) 13
) 13
(D) 14
(D) 14
vy e @ Al @ O A S . 22, Capitalisation of profit of company is
) made by :
(A) A I BN (A) Issue of bonus shares
(B) @MiT %1 AN G ‘ (B) Declaration of dividend
(€) Tl Ha9 TR (C) Making capital reserve
(D) T@ wa Tal @) It is not possible

23, Wﬁﬁmﬁmmm 23. In 2 scheme of reorganisation amount of

mﬁﬁmmgﬁmﬁammg shares surrendered by sharcholders is
_ transferred to :

(a) el o @ A (A) Capital Reduction A/c

@®) e Hag @ | (B) Capital Reserve Alc

(€) aw gad @ 4 (C) Share Surrendered A/c

(D) e # & T T () None of the above
o4, T AT S G @ B qdl @ 24 Company can Buy-back its those shares
-ﬁal_fﬁ ,g E‘T ) which are ?
(A) T’hﬁ 7 (A) Fully paid
B) iy & o (B) Partly paid
©) tgﬂhﬁqﬂaﬁﬁmaﬁa’ﬁm (C) Fully paid and partly paid both
(D) G’qg‘q’ﬁ # —‘q I &t (D) None of the above
C010804T (9) : Set-A




bs. v e Ry ygft @ o®, @ 25

26.

27.

C010804T

Saie R wanm Y o g

(A) e fafer

© @) @

© ft ot wgdar Ry

@) IvdF i} B T

v fafids, @ Rifies o s5% ul @

e 8, ¢ fafcs :

(A) #rf%]ﬁéaaﬁmaﬂaﬁéi

B) wfiews &R gl 2|

(€) N T 2

(D) -VER® T &

frfofm & & @ @ o9

HY-AH BT A T 8 7

(A) T AT R T W & |

B) 3@l @ FE-ARN A B R
YT Pl WA G 8]

(© @ ufer 3w af F gfyy T aw
Hadl ¢ |

D) I

(10)

26.

27.

When amalgamation is in i
e of
merger, the accounting meg . -

followed is :

(A) Equity method

" (B) Purchase method

(C) Pooling interest method

(D) None of the above

A Limited has purchased 55% shares of B
Ltd., A Limited :

(A) has purchased B Limited,

(B) has absorbed.

. (C) is holding company.

(D) is subsidiary company.

Which one of the following is not the

advantage of Buyback of shares ?

(A) Company can save dividend tax.

(B) Buy-back of shares facilitates
capital restructuring of the
company.

(C) Company cannot enhance its

earning full shares.

(D) All of the above

Set-A



28,

ﬁma}ﬁmﬁrﬁﬁmww%
(A) TdlgRy

®) dfderms -
_(C).'Wﬁﬂig?[:ﬁ'qqu

(D) ¥l Gy

29. @Tﬁfﬁl’ﬂmﬁmqﬁ%

30.

31.

® W‘i@?ﬂ?&’.mﬁa‘fmm

© R @ -
©) w1 TR 3 e

rnfer o &
(A) T B R
® T R
(C) FHE BT aM
@) FH @ L

TREATE T S @ T IR

foran wira ® -

_(Aj I A e R
(B®) Fad GEWl P Yfws T I

forem

© e s @ @ S A

(D) Gﬂ'é‘dﬁﬁ'\eiﬁgqﬁ

C010804T

B‘ﬁ%'

-28.

29.

30.

31.

Reorganisaﬁon -of existing company
without its dissolution is known as :

(A) Amalgamation

(B) Absorption

(C) Internal reconstruction

(D) External reconstruction

The formula to find out goodwill is :

(A) Value of Net Assets—Purchase
Pice

.(B) Purchase Price—Value of Net

Assets
(C)' Value of Assets—Purchase Price

(D) Purchase
Liabilities

Price—Value of

- Unclaimed dividend is a :

- (A) Assetofacompany

B) Liabilitj! of a company

© Prof_it of a company

(D) Capital of a company

Liquidator’s Final Statement of Account
is prepared :
(A) in all modes of winding up

(B) only in case of member’s voluntary
winding up

'(C) only in case of compulsory winding

up o
(D) None of the above

Set-A



32.

33.

34.

o 4 o &g SR e B &

(a) 3% IR A

B) A Bl

(©) A FWI A foega
(D) SWE 4 | IS T8l

W THERY B B TR @1 P, @

gRIaNd B gRT e orar Ry @
mﬁo‘mm?

(A) a fafey

®) fRel 1 g Ry

© i icar Ay

D) Mﬂﬁﬁaﬁs‘aﬁ
fear ay 2 -

5
R GSH (2 10 amo)) 2,00,000
ﬂim Td 3y 40,000
g AT - 60,000

(12)

32. Reduction of capital re quires

33,

34.

the
permission of :

(A) The Central Government

(B) Court .

(C) National Company Law Tribuna]
(D) None of the above

When amalgamation is in the nature of
purchase, which accounting method wjjj
be used by the transferee company ?

(A) Purchase method .

(B) Pooling interest method

(C) Consolidated B/S method |
(D) None of the above

Given:
4
Share Capita]

(X 10 each) 2,00,000
Reserve and Surplus - 40,000
Current Liabilities 60,000
2 o ———

* 3,00,000
___—"'_'—-—--_._________
Fixed Assets and Current Assets

3 3s00=000‘intrinsic value of shares will
be :

(A) 215
B) 210
© z12

(D) None of the above

Set-A



36.

37

Co10804T

®) #a ukwa @ PR @ v@ vg
©) qaﬂaﬂwa?aamaﬁwqaﬁ

(D) @W%mwﬁﬁwaﬁ
Wk -
AT 99 <F BT & Ve T8

(A) ARl GRT HEA B

-(B)sivraﬁu‘fémﬁ’rrnm
©) WaF gR wRgd g4 s

@)ﬁﬂﬁﬁmﬁ?ﬁaqﬁajﬂaﬁﬁ
WA d

(13)

- 35.

36.

37.

On liquidation of a company
payment is made in respect of : |
(A) Liquidator’s Remuneration
(B) Legal Expenses

(C) Preferential Creditors

(D) Liquidation Expenses

The pooling interest method is :
(A) A method of amalgamation

(B) A method of determination of
purchase _consideration

© A method of accounting of
amalgamation |

(D) A method of management and

control of large business

Dividend becomes payable when it is :

(A) Recommended by directors

(B) Demanded by shareholders

(C) Recommended by directors and*

demanded by shareholders

(D) Recommended by directors - anq

approved by shareholders

Set-A



38.

39.

40.

C010804T

Wm_qu{mﬂ;mzaﬁ'

7 feui| oE FEE 1 W, 202

i g5 30 Ry, 2022 P 3
0 & To @ TR T | W

BT
(A) 4:5
(B) 5:_4

(©) 3:6

@) 1:3

g uRehe @ fw gE oam 39

T 30,60,000 B, WEwI ﬂ'inwl-aﬁ 2l
mﬁ%‘rﬁ?ﬁ%;

() 91,800
®) 71,53,000
(©) 3,06,000
D) 23,36,600

affa g w R w2 10,000,

maaﬁ_las%,gﬂﬂqiwéumﬁm

- B Ifr Bl

(A) %2,00,000
B) ¥2,50,000

“(C) ¥1,00,000

(D) 20,000

(14)

38.' M Ltd. acquires a business ag on [y

January, _2022, it being incorporate 4 i
Ist May, 2022. The first account g,
drawn upto 30th September, 2027, T,-me'

ratio will be :

(A)'4:5 ,
B) 5:4

(©) 3:6
() 1:3

The net profit for managerial

remuneration is ¥ 30,60,000, the

. remuneration payable to the managing

director js -

(A) %91,800

(B) ¥1,53,000

(©) 13,06,000
(D) 3,36,600

Commission earned on’ re-insurancch
ceded ¥.10,000, Rate of commission 5%,
the amount of re-insurance premium paid
will be :

(A) ¥2,00,000

(B) ¥2,50,000

(©) ¥ 1,00,000

(D) 20,000

Set-A



g 0

2.

43

44,

Co108047

geard TRa B B R Ry
mﬂa‘sﬂﬂﬁ'\’ﬁi‘?ﬁﬂﬁﬁm‘q’mﬁwﬁ
g At ? |

@ 12 T

. (B) 247@"}

(€) 15ﬁ—'f_
D) T WIE

_m%,aaﬁiﬁmmﬂ’r@ﬁzmg,

() Tl ST

(o) @ e
@ A PR T

o et o ¥ ol ;-
a) dmEhAgE

B) 7 BT IY-fauToTT
© 39 BT ggeeRT
(D) ST T

Rar mar & © waRed F gfg T 40,000 44

TR @@ % 20,000; WA A dH
T 40,000; TR T 20,000; T A Yot
)

% B 7 2,00,000) Goft W A AR

R TR S T

-

(A) %1,60,000
(B) 780,000
©) z2,40,000

D) SHa 4 & B T

41.

42,

43,

(15)

The buy-back of shares should be
completed within the period from the date
of passing the special resolution :

(A) 12 months
(B) 24 months
(C) 15days
(D) 1month

When the expenses of liquidation are
borne by the vendor company, the vendor

company debits :

(A) Realisation A/c
(B) Bank Al

(C) Goodwill Alc

(D) None of the above

Alteration of share capital includes :

(A) Increase in share capital
(B) Sub-division of shares
(C) Consolidation of shares

(D) All of the above

Given : Ihcrease in Assets ¥ 4ﬁ,000;

Preliminary Expenses ¥  20,000;
Reduction in plant T 40,000, Goodwill
4 _20,000; Reduction in equity share
capital ¥ 2,00,000. Amount transferred to

Capital Reserve will be :
(A) T1,60,000

(B) 80,000

(C) T2,40,000

(D) None of the above

Set-A



45, Preferential creditors are shown under ip

45,y oer fierd oW E w9 TP

case. of compulsory winding up of . B

A) T A D Fd (A) ListA |
®) '\'ﬁlcﬁm (B) ListC
©) A& D B sl (C) ListD
D) T E 3 | . (D) ListE

46. T D WA D THIGW ¥ AT FRA P 46. In amalgamation in the nature of
et ¥ TRl @ R B R purchase in purchaser’s books the assets

and liabilities will be shown on :
SR
(A) IS q I Wiga Jod w | (A) Book value or agree value
(B) 9NIR JoJ |} (B) Market value
©) THwfed @ ® © (C) Revaluated value
@) IfRE IR . (D) Written down value
47. % ¥ IfP YR & M1 @a@ @w = 47. In general inisurance company carrying on
el R M S 3. ' more than one type of insurance business
_ . : prepares : '
(A) TG IR B FE B ferg PRER (A) A separate Revenue Account for -
T Erar . each type of business
(B) ¥UP YPR & AT & forg PREH | B) A separate Profit &d Loss A/c for
Mgt EE each type of business |
(©) A AP , ‘ ,
e Qe (©) - A separate Revenue Account and a
. e Emr * combined Profit & Loss Alc
D) quﬂﬂ ' -
- iR I e (D) None of the above
C010804T

WL = 5t . : Set-A



43, U fafee @ T H T 10 T 10000

49,

50.

Co10804T

s gaar 39 T 31 foER, 2002 )
IEF I T 20,000 WG BT F | yag
10 Jui 3 I B A AW fPrifg
forar| dre o @ Fifed @ of aeey
it T e B -

(A) 12

®) 10

© 215
(D) 8

HH AR am, 2013 & IFTOR A @)
FONe wfoie  STReIdd &1 9o
R

(a) IR Yg TURT T 500 TS A T

e &

®) uf% faar T 1,000 TS A AW
aRwm e

€ I & oW T 5 T U S
s &

D) SugT &

PRNE adied - gan @ g
It Iwr 8|

(A) dfdT

(B) “WaR

© @

©) v ¥ § B T8

(17)

48,

49,

50.

Capital of A Ltd. consists of 10000 shares
of T 10 each fully paid. On December 31,
2022 it issued one bonus share for ten
already held out of its general reserve for
¥ 20,000, find out the value of its share
before issue of Bonus shares :

(A) 12
B) T10
© 15
D) T8

Company to perform corporate social
responsibility after Companies Act, 2013 :

(A) net worth of ¥ 500 crore or more
(B) turn over of X 1,000 crore or more

(C) anet profit of ¥ 5 crore or more

(D) All of the above

Forensic Accounting is very much useful
10 srernersnneansses INAUSETY.

(A) Banking

(B) Communication

(C) Insurance

tD) None of the above

Set-A



52.

53.

54.

‘C010804T

'aamm@awmmﬁwm

1fey
) W:‘I?W""

éwwwm%mmmﬁmﬁ

_wmﬁ%ﬁﬁﬁmﬁﬁwr
o B WE: | |

momm@ﬂmm

mymwmwmm

() TEN T R
©) FTEN

o i @ auRRE T @ A

& 7 @ @ ARe W0 A IR D

it faar o & :

@jmmﬁﬁ
@)mﬁﬁ

©) It
anmmwmﬁ

mi

52.

®

What is the last step in procesg
Forensic Accounting ? ™

(A)
(B)
©

- (D)

Income tax on rent, interest and dividend .

(A)

©

. )
As per According ‘Standard-14 purchase
consideration ‘including those payments
which are payable to any one of the
following :

53.

54.

(A)
®)
©
(D)

Reporting
Court proceeding
Evidence collection

Perform analysis

should be debited to provision for

taxation

should be credited to provision for
taxation |

should be deducted from rent,
interest and dividend

All of the above

Shareholders and debentureholders
Debentureholders and creditors
Shareholders and creditors

Shareholders

Credit balance of capital reduction

account left after writing off accumulated

losses is transferred to :

(A)
(B)
©)

D)

General reserve
Share capital
Capital reserve

Share surrendered accbunf -

Set-A
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sh g items 5 not
Ry e & 2 oo T SalEment of iy o
Rufy faaer 3 el company ? -
W (A) Profit
% 'ii?f (B) Capital
© R (C) Assets
- ' ) Creditors
(D) ®
s o 3. 56. _Gwa'm:

z T
ai-a- fi‘-’h - 10’00’000 Share Cﬂpilﬂl Iﬂ,ﬂﬂ,ﬂﬂﬂ
g u 8,00,000 Current Assets 8,00,000
ﬁ B 5,00,000 Current liabilities 5,00,000

b st 7,00,000 Fb{ed Assets 7,00,000
fee @1 3 2 :

Total of Balance Sheet is :

(A) ¥10,00,000 (A) T 10,00,000

(B) ¥1,00,000 (B) % 1,00,000
(C) 2 8,00,000 (C) 8,00,000
(D) @qg?ﬁlﬁﬂ?ﬁﬁﬂﬁ (D) None of the above
57. Reafrr v e s ®IE, 2016 @I 57. Insolvency and Bankruptcy Code, 2016
E;m . _ was applicablé 2
(A) 1 YaE, 2016 3 (A) IstJuly, 2016
(B) 1 fawmr, :Izmﬁ o (B) 1st December, 2016
(Ci 1309, 2017 &) _ (C) 1st April, 2017
©) w3 e (D) None of the above

(19)



. 6L

58. WEME TR B AU THN) @ W@ 58. Minority of subsidiary company ;
18

BT | entitled to :
(4) ol oM | (A) Capital Profit
(B) @G AM (B) Revenue Profit
(C) SHE I ' (Cj Both of the above
O) SWF A | I3 el (D) None of the above
_so. fyefufed § § @ AW CSR @ 59, CSRstands for
= & 7 | |
(a) Sl GRS SHRE | (A) Corporation Social Responsibility
(B) ﬁ‘Tﬁﬂ AT Gﬁ?ﬂﬁlﬁ | : (B) Corporate Social Responsibility
©) ﬁ"'lﬁﬁ grifre gfoeafs (C) Corporate Social Resonance
D) '\‘I’Eﬂﬂﬁiﬂ '\H’I’H’fﬁl’lﬁ ERECUE] - (D) Cooperation Social Responsibility
60. . 3ITeTaT B © 60. A contributory is : '
(A) ER o | .(A)" A Creditor
®) TR | " (B) ADebenturcholder .
© @ (C) A Shareholder
(D) th?iﬂﬁ ¥ 9§ PIS Tl (D)  None of the above

Fe-ar P |G Sawefi @1 61. Whichisnota characteristic of corporaté

SET e socini responsibility ?

(A) Scdre Rl (A) Product safety

(B) SUATG AR (B) Consumer rights

(©) wfadid fert (C) Environmental policies
o) T FEf S (D) Price fixing

Set-A

C010804T (20)



62. ﬁﬁmﬁwﬂmwmﬁmﬁ:

63.

63.

Co10804T

(A) Raer 99w

®) fRarer W et
(C) Y SuHifirar

(D) SYYE W

ok FwE MR 2, o WO W
BI q foar s @

() fred 9 (il 7 &1

(B) WHIUT URH BF @ fafd 7 @7
(© ¥ @ iy 9% @1

D) ST q ¥ P T
sfemia e @ e &1 e 3
fied W a7 W v & ?

(a) @ Gt F o9 e 2 oo Whe
N T WY 954 & |

B) 3w Toit § T & & ar whw
o T W99 98 £

© &9 it aur wfm o W S
e )
(D) Suga ¥ ¥ B¢ T

BT WIS STREIE @ RETr &

T TE 7 7

(A) el T v
(B) W Pl W
© R o @
(D) 9IS &
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62.

63.

65.

Base pillars  of
Bankruptey Code are :

(A) Insolvency Professionals

Insolvency  and

(B) Insolvency Professional Agencies
(C) Information Utilities

(D) All of the above

If company is solvent, the interest on
debentures is paid upto the date of :

(A) The Balance Sheet

(B) The commencement of winding up
(C) Payment

(D) None of the above

How does the issue of bonus shares affect
the Balance Sheet of a company 7

(A) Share capital decreases and
accumulated profit and reserves
increase.

(B) Share capital increases and
accumulated profit and reserves
decrease.

(C) Share capital and accumulated
profit and reserves decrease.

(D) None of the above

What is not a characteristic of a social
responsibility framework ?

(A) Retaining the status quo

(B) Understanding society

(C) Hamessing diversity

(D) Binding capacity

Set-A
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68.

U EE

(A) ¥ gw
(B) T @-AS GR
(C) VAN obida-21 §RI

@) e Red & gre

ﬁ?ﬁﬁmﬁmﬁﬁ_gﬁ_ﬁ'w 67.

(A o

®) o am
(C) T

o F@IR@

(B) JfeRad g

I'(C) FfeRaw aim

(O SR W Pl Tel

C010804T

(22)

66. Wmﬁaﬂﬁqm-mﬁﬁ 66.

68.

The name parent company to the hg| ding

-

- company is given by :

(A) SEBI

(B) Company Law Board
{C) AS-21

(D) RBI

"The excess of the. cost of acquisition of

shares over of net worth is treated as :
(A) Capital Reserve

(B) Capital Profit

(C) . Goodwill

(©) Both (A) and (B)

Bonus to equity shareholders Imeans :

(A) An extra dividend

‘(B) An extra calls

(C) An extra shares
(D) None of the above

Set-A



69. STTIQ‘:R[ @ 3l foae  faaRo H 69. Which of the following item is shown in

- 7 @R & ? | the surplus account of statement of
appropriation ?

(A) . GHW @ for wrae= (A) Provision of Income Tax

B) BN @ foy y@u™ (B) Provision of Depreciation
(©) ifewy o & ferg wraEE

(D) WA Wag A fbar T sivem

(©) . Provision for Doubtful Debts

(D) Contribution to General Reserve

70. wﬁmé@%mﬂﬁsﬁmﬁﬂ%m 70.

Pre-incorporation  period  profit is

T R _ transferred to :
(A) Mg & A | (A) Profit and Loss A/c
(B) 'ﬂTFIF'II GEREE R ' (B) " General Reserve A/c
©) o dm En i (C) Capital Reserve Alc
(D) "@'I'*T—ET&T e @i 1él o (D) .P & L Appropriation A/c
71. WS TG : | 71.  Voluntary winding up :
(A) I A B FuifRa e@f® W@ (A) If period fixed for the company
h - - expired.
TR |
®) I T By T T R (B) If company passes a special
; ' - resolution the company would
S BT ABH TG & |
: wound-up voluntarily.
©) WEH gRr t‘%ﬁi U9 Y 10N ‘ (C) Members voluntary winding-up is
- i ly.
' plicable solvent companies on
B V9 B e o | S P
(D) qujﬂﬁ L] : (®) All of the above
' | Set-A
C010804T

(23)



72. 31 7, 2023 B o @MY feifaRag & @ 72, Dividend payable on 31st March, 2023

73.

74,

C010804T

PO FEA T 8,00,000; 100% WG

qell WEdd DAl T 2,40,000, TdIHd

Pac # 2 e o e et

(A) ¥10,40,000
(B) 240,000
(C) 8,00,000
©) ¥.5,60,000

@ d o PR R o 2, o
ﬁammﬁﬁﬁ:%mm%? .

(A 9ENY E9g @rar

(B) 3% v wrar

(©) 39 Yoit @rar

@) FTERAT P AT @

I FRRRET W B W @ g 1d
wmq'aﬂaaféa’f#ﬁamam;

) P

B) mlavquﬁ'
© ¥ X e F
(D) WM 3 §

(24)

73.

74,

‘divided Eetween pre-

are as follows :
Holding Company ¥ 8,00,000; 100y
ownéd Subsidiary Company ¥ 2,40,000,
the amount shown in consolidated
Balance Sheet as dividend payable :

(A) Z10,40,000

B) < 2,40,000

(©) ' £8,00,000

(D) % 5,60,000

When bonus share is issued, which

account is credited ?

(A) General Rese_rve Alc

 (B) Share Premium Alc

(C) " Share Capital A/c

(D) Bonus of Shareholders A/c

Depreciation of fixed assets should be
and = post-
incorporation periods in :
(A) Sales Ratio |

B) Time Ratio

(©) Neither of the two

(D) Equal Ratio

Set-A



75.

76.

7.

78.

C010804T

CSR @ &1

(a) ff & w

@) Wt 8% W

(€) IRIWER HWIST W

@) Pl 7 W & <l w

frelt T BRT AR T wew am
B 8

(A) T B Y

@) T gRT AR anT 1 faewor

© i fo fw @ wa

(D) T T WY

s WRe @ o W wel g
TR ?

(A) M G A

(B) FF 1 H
(C) wm-aI @ A

(D) ww A | P T8
Tmﬁmmﬂﬂ:

(1) eRE AR
(2 3 P snfdva &, ot sierararsit 3

(3) MIUq =g

(4) EREY R
(5) [ o ER
LR

(A) 1,2,3,4,5
B) 4,3,2,1,5

(C) 3,54,1,2
{D) 51‘3!2: 114

(25)

73,

76.

77.

78,

CSI I npplicable o
(A) [Private Sector
(13)  Public Sector

(C) NGO
(D) Both Private and Public Sector

Dividend declared and  paid by a
company I8 :
(A) An income of the company

(B) ‘The distribution of profit carned by
the company ,
(C) The source of fund for the com

(D) An expenses of the company

Where the reserve for unexpired risk is
shown 7

(A) in Revenue Account
(B) in Schedule 1

(C) in Profit and Loss A/c
(D) None of the above

Correct order of payment :
(1) * Unsecured creditors

(2) Any  surplus, among  the
contributories -

(3) Liquidation expenses

(4) Preferential creditors

(5) Secured creditors

Codes ;

A) 1,2,3,4,5

®) 4,3,2,1,5

(C) 3,5,4,1,2
D) 5,3,2,1,4

Set-A



79. = B dEiET @ RY ¥ oA

- 80.

81.

82.

Co10804T

Wﬁwﬁamﬁmﬁmw
€, WG BYC YA Ta B ST

W RGP BRRe e 3 |

(A) BRRI® oaie

(B) WRR® 3icem

©) WRR® sy
(D) @UC B IHpe
CSRE: ‘_ |
(A) @ IR I ylear
®) s

©) e wfa |
@) SRH F § IS 7

marwmaﬁﬁmmwmé:
(A) W I w

B) THRIT AT W)

© 3 (a) 3R (B)

©) TE I P G

'Wmﬁfﬁﬂﬁf&mm?:

(A) M-8 @
B). 31 N @y
© W Yo R
D) SR wely
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80.

81.

82.

.............. is the application of accounting
methods to the tracking and collection of

forensic evidence, usually £,

investigation and prosecutions of Criming]

acts such as embezzlement or fraud.

(A) Forensic Accounting
(B) Forensic Audit
(C)  Forensic Investigation

(D) Fraud Auditing

CSRis :
(A) One time process
(B) Yearly process

©) Continuous process

(D) None of the above

No dividend can be paid on :
(A) Callsin advéncc

(B) Calls in arrears

(C) Both (A) and (B)

(D) None of the above

Bonus shares can be issued from -
(A)  Profit and Losg Alc
(B)  Share Premiym Account

(C) General Reserve Account

(D) . All of the above

Set-A



g3, AR @ A T w8, o uRmly
qg @™ W A A 1l )
Wl 2
(A) 5%
®) 1%
©) 3%

@) S A W o T
g4. TR @ fER & wftues #

3.

84.

g5. Prfofad § ¥ @-W BURe YA &1 85.
W o o e & REm Tl
27
(A) VEEH

(B) Yellu
©) wWerkm

(D) Yder

8. U@ ARG B o WA @ oniel @ 6.

mﬁﬁh?:

(A) IVF ™ T B
(B) W 78 T W

(©) wmaﬂémﬁﬁmﬁﬁ
@) 2 (A) 3R (C)

C010804T (27)

If there is onc manager in the company
remuncration shall not be exceed
weennennnnanes OF the net profit.

(A) 5%
B) 1%
C) 3%
(D) None of the above

The idea of u'usteeship.was propounded
by: |
(A) Tolstoy

(B) Ruskin

(C) Mahatma Gandhi

(D) All of the above

Which of the following is not one of the
underlying principles of the corporate
governance combined code of practice ?

(A) Accountability

" (B) Openness

(C) Acceptability

(D) Integrity

A business firm that neglects the
expectations of society :

(A) will earn more profit

(B) cannot grow

(C) will not affect business

(D) Both (A)and (C)
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88.

§9.

90.

s B SavIEan g @

(A) Tifs T8 T D d@™ 3 AT B
gl

(B) T A, 2013 & IR

(©) svRal @ e W

(D) FYT BT @ B oy
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87.

88.

89.

90.

External audit of the accounts of a limiteq

company is required

(A) Because it is demand by (he
company's bankers.

(B) By Companics Act, 2013
(C) At the discretion of the share.

holders
(D) To detect fraud

Accounting for amalgamation of g
company is governed by :

(A) Accounting Standard-12
(B) Accounting Standard-13
(C) Accounting Standard-14
(D) Accnupling Standard-15

Reserve for unexpired risk is shown in
Balance Sheet in ................... .

(A) Shedule 6

(B) Shedule 12

(C) Shedule 13

(D) Shedule 14

Disqualification of directors may results
from breaches under the ...............

" (A) Health and Safety Act

(B) Financia] Services Act.
(C) Companies Act
(D) Sales of Goods Act

Set-A



oy T R ol Rl T 62,000; i

91,

91, |
¥l T 90,000; T el T 33,0005
WM W T 2,000 an-eIf Reor—
SronTerd AN T 5,000; TR T 8,000, FY
PIRLT] BT
(A) ¥ 87,000
(B) ¥ 95,000
(C) ¥1,00,000
(D) ¥90,000
02. WE 49 B IIR WA W P
= 3 1 B AT 7
A) 21
B) 22
(C) 23
D) 24
93. TR F G T B & W 93,
&) ot @ § aRad &
(B) WM T ¥ YR &l
© 3T (A) 3R B)
(D) ST A W B T _
94. WEIPT WAU-14 T FTER [HG T 94
............... o |
@A) 3
B) 2
© 1
©) SR ¥ | P
C010804T 253

Given : Tixed Assets T 62,000; Share
Capital T 90,000; Current Assets
T 33,000; General Reserve 2 2,000; Profit
and Loss statement sing of minus
Negative Balance ¥ 5,000; Liabilities
X 8,000; Purchase consideration will be :

(A) % 87,000
(B) 95,000
(C) % 1,00,000
(D) 90,000

According to Clause 49 on independent
directory, what should be minimum age
of independent director ?

A) 21
(B) 22
©) 23
D) 24

Reconstruction of company is happen

- when :

(A) Change in capital clause
(B) Change in address clause
(C) Both (A) and (B)

(D) Nc;ne of the above |

According to AS-14 amalgamation is of

@A) 3
®) 2
© 1
(D) None of the above

Set-A



95. W T Gl W R AiE 15% 8, A 95. When the proposed dividend is 15% of

96.

97.

-010804T

(A) I
(B) 5%
€ 7.5%

D) 10%
WIS 91 3§ g 2
{A)Iwﬁmmﬁrq?ﬁ#mmﬂrs‘n
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Frafm @ 2

©) o T 399 40% 9T % g

=
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74 UEN F B e e wawt
U 2

(A) ﬁﬁﬁnmﬁfﬂﬁﬁﬁrmﬁ—lﬁqﬁ
Tfi
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IR T darfie W

-(C}ﬁﬁmmﬂﬁﬁwﬁmm
T 9wy

(D) ﬁﬁmmaﬁ%ﬁmﬁmﬂ'ﬁﬂ

(30)

paid up capital, the percentage of prog,
transferred to reserve should be ;

(A) Nil

®) 5%
©) 75%
D) 10%

Subsidiary company means :

(A) - "iﬁ:j{:h controls on  another
company.
(B) Other company controls on jts

Board of D1rectors

(C) Other company is the holder of its

~ (D) None of the above

-

Under the purchase method, purchasing
company shows in its books :

(A) All assetes and liabilities of the
- vendor company

(B) Assets and liabilities taken over by

the purchasing  company and
Statutory reserve

(€)  All assets, liabilities and reserves of
the vendor company

(D) Non-statutory reserves of the
vendor company

Set-A



(A) @i 1999 H
@®) ¢ 2000 H
(C) o 2001 H

(D) Y 2002 #

100. = PIUNE YHE &1 UG 2|
(A) wfEmET
®)

(C) ¥aR

®)

Co10804T

(31)

98.

Which item related to subsidiary
company is shown in the Profit and Loss
. Statement of holding cdmpany T

(A)
®)

©)

- (D)

100.

Bonus shares
Creditors
Unrealised profit

Provisions for losses of subsidiary

company

Insurance chulaimy and Development
Authority Act was passed in thr:_ year :

(A)

(B) -

©

D)

1999

2000

2001

2002

seessesseesenes 15 the tool of corporate

governance.

@A)
®)
©

D)

Training
Recruitment
Communication

Consulting
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I g o whded W e wey : I. A good report should possess :

(A) TP ‘ " (A) - Selectivity
®) v .- (B) Objectivity
(€) e (C) Clarity
) ST o | - (D) Al ofthe above
) WA ' 2. Researchcanbe:
(A) T A (A) Fundamental research
(B) WTERE A A WY (B) Applied rs-:scarch
(€) = (A) 3R B) (C) Both (A)and (B)
(©) wyiE ¥ & g T | (D) None of the above
3. 7 Avel ¥ g8 U @ FR ..., 3. Consumers in _______ are brand
# I A @ Ry s £ conscious because of the prestige
: associated with these brands.
(A) 3t dedr . " (A) Impulsive style
®) I THE R (B) Pleasure oriented activity
(©) TvET IHG delt (C) Quality oriented style
| (D) 98 WITHG el (D) Brand conscious style
E 4. IR gae wefla sl @ 4. Product line refers to :
R CVIR < R (A) A specific product or brand
®) fizem wafm sar) @ WE B (B) A group of closely related products
w0 Rt 3 forg e R o (C) A set of all products offered for
i ST B Ve By sale by a company
. S0 it | (D) All of the above
Set-D

(3)




7. UE A UH A

&) fiwe Ry a1 €
®) fwe 78 fiy oid €
(© mmmwmm

(D) IR A | P T

Cot080sT

(4)

When marketers wants to understand the
characteristics of certain  phenomeng

underlying particular problem, itis :

(A) Exploratory Research
(B) h Descriptiv& Resecarch
(C) Experimental Study

(D) None of the above

Multiplicity sampling is a form of :

(A) Quota Sampling
(B) Snowball Sampling
(C) Judgement Sampling

(D) Multi-Stage Sampling

In an open question :

(A) _Alternatives are given.
(B) Alternatives are not given.

(C) Ask true of false.

(D) None of the above

Set-D



T ———— T A W W T

s qRmeu 3 wftaferd fobar o # :
(A) TRAET T ARG AT H
@) WA B RETr T et 4

(C) WA B ShfArer AT 3
©) v G P
9..f%nrférfiaaﬁﬁﬁ=r—?ﬁﬁmﬁﬁm?ﬂu
@ 3ITa off o & 2
(&) T et
B) g ot
©) fakor et
D) Sww wh
10. R oR & S 71 10 Wi, g
IR g, W R W Ry R @
fore 3 vy o &, 5 el foar o
(A). ST ¥
(B) ST 3HE
(C©) Swre g
(D) VT F Rufy

Co10805T

(5)

9.

10.

Hypothesis is included in the :
(A) Introduction section of the report

(B) Analysis and interpretation section

of the report

(©) Limitation section of the report

(D) None of the above

Which of the following activities are

covered by the marketing research ?

(A) Pricing policies

(B) Promotional policies

* (C) Distribution policies

(D) All of the above

A group of diffefent types of products,

- related and unrelated, which are offered

for sale by organisation may be referred

as:

(A) Product line
(B) Product item
(C) Product mix

(D) Product positioning

Set-D



12.

13.

fawergor & 3o €

(A) Fftad qEaie! B TE A
B) el & WG B

(©) 3wl T T Fe

(D) 3iFE TN AR FA

C010805T

(6)

12,

13.

g

 To determine the sample size 'bY rule :
' 0

thumb approach’, covers under .

(A) Arbitrary approach

(B) Conventional approach

(C) Costbased approach

(D) None of the above

Goods that consumer purchases on

regular basis, known as :

(A) Stapes

(B) Impulse goods
(C) Emergency goods

(D) None of the above

Analysis refers to :

(A) | Computation of certain indices
(B) Editing of data

(C) Classification of data

(D) Tabulation of data



14. fague o @ weran @ frafofea § 4 14,
g A BT & 7 " the aid of marketing research ?

Which of the following are benefited with

A) fioom yawus (A) Marketing manager

(B) MG YawEd (B) Production manager

(C) T YaHD . | (C) Purchase manager
(D) SudE i B (D) All of the above
1. FMCGHaf: 15. FMCG means
| (A) BRE AWRT EF"*’JF?[W " (A) Fast measuring company goods
(B) B ’Iﬁ’T HYHY HTel . .(B). Fast moving consumer goods
©) R ’Iﬁﬁ A AT ‘ , | (C)_ Fast moving company goods
(D) BRS AART HYHR ATt ‘ , (D) Fast measuring consumer goods
16. vfdded & ﬁ:‘FRQT iGi ?ITFETQ : ‘ 16. Report should be written iﬁ :
(A) THd & wY H ' : (A) Technical term
(B.)“ Wﬂl’ T A (B) Simple Language
© e . - (©) Complex Language -
(D) @ wdt | "(D) All of the above
i 17. ufddeq # 'ﬂﬁqﬁﬁ oo w4 17. Limitation section of the réport includes :
i; (A) b FY Wifdaar (A) limitation of the researcher
;ﬁ (B) e Ira} # Aifaar , ‘(B) limitation of the reader
| © Wwke (C) Both (A) and (B)
a;*-;;: (D) YA TY Ty GTﬁEh_et[ ¥ g (D) limitation relating to researcher’s
j’ At ) | design adopted
|| cotososT

(7) Set-ID



18. Pre-publication tests are known as :

LI ot i f— A BEl

I 2 |

(A) ié_qﬁa:[v[ (A) Pre-testing

B) Ig-T)eqo (B) Post-testing

(C) THI (A) 3R B) (C) Both (A) and (B)

D) '\F@'ﬁ ¥} I ol . (D) None of the above

19. PR § § @9 R o & 19.  Which of the following is an element of

Tad? : marketing research ? '

(A). ﬁﬂ"ﬂ B ' '(A) Intensive approach

B) TG FETTT (B)  Scientific approach’

© fmzs - oy P (C) Decision tool

D) G'Q'ﬁ?ﬁ Bl _ ' (D) Allof the'abové

20. e AR Ay Qftaferd fby S & 20. Graphs and charts are included in the :
(A) Y vd gama A 4§ | | (A) Conclusion and recommendation
o sector ‘

@B) TR g fddas T H - (B) Resultand discussion section -
(© BB [GELE] HRT | Lo - (©) Sampling section |

(D) N fieT AT ¥ - (D) Research design section

21. fFefafed & ¥ @W-wr fiSm9 @ 21, Which of the following in a pre-testing of

qé-qﬁ&rw $7? - advtertising ? |
(A) TG T4 W ' ' (A) Consumer Jury test
(B) WANTEITET TRIErT "(B) Laboratory test
(C) uICHiferar qeeor © Portfolio test
D) W ¥ | I3 T ' - (D) None of the above

C010805T - | - P



23, faf qaigart @ aef €

24. PefafEd 4 3 o9 Swem sare

&1 e Wdas T8 & ?

(A) ST Y YawiH
(B) g gq
©) 9% famy ey

D) I ¥ & B

. 22,

25. ﬁﬁﬁf&ﬁ#ﬁﬂﬂ?—ﬂﬂﬁ'ﬂﬁaw

(8)

23.

24,

DAGMAR referto ;

(A) New Product Launch

(B) Advertising

(C) Sales Promotion

(D) Pricing

Sales forecast means :

(A) . Market Forecast — Market Share

(B) Market Forecast x Market Share
(C) Market Forecast + Market Share

(D) Market Forecast + Market Share

Which of the following is not an
economic  indicator of consumer

product ?

(A) Consumer Price Index
(B) 'Pcrsunal Saving

(C) Wholesale Price

(D) None of the above

Which of the following is ap
uncontrollable factor ?

(A)  Quality of products
(B) Marketing research
(C) Gowt, Policy

(D) None of the abave

Set-D
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28.

29.
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26.

27.

28.

29.

Objective methods of sales forecasting

- are also known as :

(A) Qualitative method
(B) Quantitative method
(C) Both (A) and (B)
(D) None of the above

Jury method is also known as :

(A) Panel of Executive opinion
(B) Salesforce Survey
(C) User's Expectations

(D) None of the above

The sale of products to a foreign country,
which * represents the lowest level of
commitment to international marketing is

known as :

(A) Exporting

(B) Licensing

(C) Importing

(D) None of the above

Complex bartering agreements between
two or more countries are involved in :
(A) Trading

(B) Counter Trading

(C) Joint Venture

(D) None of the above



Marketing Information System involves

3uWWﬁﬁTﬁﬁFﬂﬁ‘lﬂfﬁ|ﬁﬁ 30.

fra o & 7 T [T .
(A) g Al (A) Ongoing process
@) 3t i B) Irregular activity
) =l (A) 3R (B) (€) Both (A)and (B) .
(D) HQ'{ITIH bkl (D) All of the above
31, oy g ? 31, Whatis “ANOVA’?
-(M SAR-Herd B faweryor (A) Analysis of Variation
®) SRR T fgeror (B) Analysis of Variance
©) fafr= &1 Ry (C) Analysis of Variety
(D) SwE F A BIF T (D) None of the above
32. WS Gﬁfb_-g B 8 32. Primary data :
(A) ® faeg T8 (A) are never reliable
(B) Wed dfed faEwy (B) arc always more reliable
(C) 9% AT T dell Tordl W (C) are depend on the agency collecting
fnfe data
@) SF A A BIE A8l (D)., None of the above

33. fefafeg & @ @F-@ fagm @ 33, Which of the following arc marketing

research agencies ?

Taifaar 8 ?
C(A) fAUE IR e (A) Market Motivation Studies
B) TN s w1 wizde fofics (B) National Advertising Service Pvit.

Ltd.

(C) ArdafE g B ARG SR (C) Indian Institute of Public Opinion

(D) ST Wi

(D) All of the above

Co010805T (11) Set-D



34.

35.

36.

C010805T

Sy aER s fmm W g,
U @
(A) Y el &

(B) 4 Wkl @
© T o At W@ wu-Rns

@l

®) SwE Wi
werael § el @ W & kg fom

R

- ® G ikt e B 2 B G

(B) I I WA A YR TR
(©) 3 (4) IR (B)

(D) SHYE A & B T

ST AAER W WEfad ey §e
g
(A) 3

®) 4
(C) 5

) 6
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34.

35.

36.

The number

In consumer behaviour study is done of

consumer’s :

(A) Buying habits
(B) Buying tendencies
(C) Buying practices and buying

motives

(D) All of the above

of questions in a
questionnaire is decided :

(A), By the convenience of investigator
(B) By the convenience of respondents
(C) Both (A) and (B)

(D) None of the above

The important questions related to

consumer behaviour are -

(A) 3
(B) 4
© 5

D) 6



38.

39.

40.

Co10805T

(©) aﬁa‘ftA)aﬂ?(B)
() S § ¥ BE T

U O | e
yaEd B g ey, @il

(A) faUvF ¥ Gham WK &R G 8
(B) SUHIGHl Aie @ W&y I UE Y
o &

(C) &M HHT §HaT &

O) S Wi

(13)

37.

38..

Which of the following is a component of
marketing information system ?

(A) Marketing Research

| (B) Operation Research

(C) Published Information
(D) Allof the above

Direct personal interview method is a/an :

(A) Survey method

(B) Observational method

(C) Online method
(D) All of the above

Which of the following is a descriptive
research study ?

(A) Cross-sectional Study

- (B) Longitudinal Study

(C) Both (A)and (B)
(D) None of the above

Answer to questions related to consumer
behaviour should be found by the

manager, only then he can :

(A) get success in marketing

(B) achieve the goal of consumer
satisfaction

(C) make profit

(D) All of the above



41.

42,

43.

forfer witrag= &l & ¢

(A) T BT I

(B) W & I TG

©) T (A) IR B)

(D) ST 4 A B T
IPiE WER @ anffe  dled @l
yfcares foan

(A) Wl

(B) 4 Yqea 4

(C) WIUe A

(©) &

UfaeT R & W @
(A) dad fofd

B) Faa i

© wwfw (a) 3k @)
(D) SRfaT # ¥ B T
g 7w w1 e &

A) o vei @ v ¥ IRT Rew @
Ed &

®) Fom 79 @ 390 9 o & wa

) .
© K g &1 o8 fow 58 @
Haar

(D) & A | B 7

C010805T
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41.

42,

43,

Written report is the :

(A) Tangible product of the resear,
(B) Intangible product of the researy,
(C) Both (A)and (B)

(D) None of the above

The economic model of consumer
behaviour formulated by :

(A) Marshall

(B) Ivan Pavlov

(C) Freud

(D) Hobbes

Report presentation can be :
(A) Written only

(B) Oral only

(C) Botl; (A) and (B)

(D) None of the above

The open question means :

(A) The questions which has more than
five alternatives

(B) The question which has only two
alternatives

(€) The question which does not have
any altemnatives

(D) None of the above

Set-D



45.

46.

47.

(B) M

(1) BTl 3eIa
T4

(A) o 13RI
@) e 11 3R 11
(€) a1 3R I

(D) LuERm

(15)

46.

47.

_ 45. Practical and popular technique of

studying consumer behaviour is :
(A) Suspension

B) Interview

(C) Questionnaire

(D) Experience and knowledge

Grouping of consumers according to their

characteristics  is called  market
segmentation. These characteristics
include :

(A) Income

_(B) Aege

(C) Status of Caste and City
@) All of the above

Rigid pre-planned design for analysis is
statistical design for

() Exploratory Study'
(I) Descriptive Study
(1) Diagnostic Study
Codes :

(A) landIlonly
@B) andIl only
() landI only
D) LI and I1I

Set-D

A



48, ST WAER B ARG YA A ol

49,

50.

C010805T

Tt vew | e @ §

(A) 3@

B) wrfis

©) wrfs

(D) afeTd

Wt e T B S e -
(A) Ww g B

®) & ff wdevewt gw R
Fafas seref gra @ ol 2

(© =i (a) 3R B)
D) W{Iﬁaﬁﬂﬁé%ﬁ

mmwmmméz

(A) 3T STR-7em
(B) & Udwgm
(©) T ferar
(D) SwYa Tl

(16)

48.

49,

50.

Purchase factor not included in aﬂi‘cﬁng

consumer behaviour :

(A) Income
(B) Social
(C) Cultural

(D) Personal

Primary data can be collected by :

(A) the researcher

~(B) any investigator appointed by the

researcher

(C) Both (A) and (B)

(D) N_une of the above

High rate of Standard Deviation

indicates :

(A) More variation
(B) Lelss uniformity
(C) Less consistency

(D) All of the above

Sat-D



51.

@ ey

(A) ST @
(B) TEE B
() famar &t

(D) . WaSF FI

52, W wHE i o e #

(A) ufted fafyr grr
®) - ForEn R g

(€) T (A) 3R (B)
@) uofF H ¥ P T

I aER W WG 6 FEI @ 9nY

5l

53, @i s @ gem R

2
(A) T

B) T
(©) TF (A) 3R (B)

®) e F 7 g T

C010805T

(17)

52,

53,

Answer 10 6 uestions

consuimer hehavionr |

by :

(A) The consumer
() Producer

(C) lelc;'

(D) Manager

Primary data can be collected by

(A) Sampling method
(B) Census method
(C) Both (A) and (13)

(D) None ol the nhove

Basic design of explorntory

is:

(A) Flexible

(B) Rigid

(C) Doth (A) and (1B)

(D) None of the above

pelated 10

il e ol

sty

Bot-D
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(A)  HETHR

B) TH T I

(C) WEEel

@) S i | I T

" 55, altgd W @ fov e Ry @ gme o 55

AR W iR Fva #

(A) 3He B gl W
(B) T EITT B TON W

(C) W 34T & W W
(D) SHEw Wi

56. Wﬁmﬁﬁﬁ% 56.

(A) WA T
®) R w
© @t
©) S e

S (18)

54. The traditional, simpler and more popular

technique of studying consumer behavior

is:

(A) Interview

(B)  Knowledge and Experience

(C) Questionnaire

(D) None of the above

Selection of a particular method for

measuring average mostly depends on

the :

(A) Nature of data
(B) Type of research snidy

(C) Object of research study

(D) All of the above

The tendency of Indian buyer is :
(A) To bargain

(B) To file complaint

(C) To purchase cheap

(D) All of the above

Set-D




57. % oo &1 <= Am9r o #

58.

59.

CotososT

(A) fawm g™
®) e g™
(© T (A) 3R ®)
(D) IR gRT

s iR s wie @1 9 §=
WA PR e g

(A) T B w3 e @
aa‘rhmw.

(B) TRl ¥ SUH el W

(C) Wawvraal B FBT W

©) S wi

Frefofia #_m—m e i @1
AT AE R ?

(A) TS WY

(B e WY
,(éj Qg oy

O SR& ¥ § B 78

(19)

57.

38.

59.

The shape of distribution is measured by :
(A) Skewness

(B) Kurtosis

(C) Both (A)and (B)

(D) Dispersion

The choice between primary and
secondary data depends mainly on the :

(A) Appropriateness of the data to the

objective of the investigation

(B) Easily availability of data
(C) Desire of the investigator

(D) All of the above

Which of the following is not a part of

conclusive research ?

(A) Descriptive research
(B) Experimental research
(©) I'Explqraloqr research

(D) None of the above

Set-D

1






63. SWHIET YTER B - 63. Consumer behaviour is :

(A) sfAf¥aa
(B) TS

(C) =S

(D) IRfa Wit

64. ﬁﬂawﬁfmmgﬁﬁﬁl%,mﬁﬂm 64.

(A) BIE 4T Ha
(B) P AT IR
(C) MaTTEHaT AT FHET

D) Fa1 a1 Ref

65. W 0. v @1 3wf & | 65.

A) TRy AT B WM
fréem

B) Eﬁ:lﬁﬂﬂﬂﬁmﬁﬂ’lﬁﬁﬂﬂﬂ

(C©) SRS wwTaaT A

D) Wﬁﬂ-mﬂﬁ

CO10805T ' (21)

(A) Uncertain

(B) Dynamic

(C) Wide

(D) All of the above

The buying process starts when the buyer
recognizes a

(A) Product or Service

(B) Shop or Market

(C) Need or Problem

(D) Money or status

[

PPS means :

(A) Probability Proportionate Size

(B) Probability of Proper Size

(C) Probability Proportional Scheme

(D) None of the above









73. Thé important factor which must be Kept

d while writing a research rep,,

73.@Hqﬁ1ﬂaﬁf?iaﬁwﬁwﬁﬁ

. in min
- ool T S H Y AR, E - i
- is :

. (A) m arel W E’r (A) Reader to be Sﬂ.ﬁSﬁCd
(B) el Rl a (B) Researcher to be satisfied
() T (A) 3R (B) (C) Both (A)and (B)
©) SF AW B T (D) None of the above

74, GG / ARG o t[&-q'ﬂ&fur ___________________ 74. Pre-testing of questionnaire/schedule i
ﬁmﬁ?ﬂTﬁlﬁT%I | done by the :
(A) WoEuEd . 2 ‘ (A) Investigator
B) SWRoTdA . oo - (B) Respondent
(C) & Brd. . (C) Field worker
. O SW@mwh (D) All of the above
75. |3IEIU|_5|. Y Bl JEw ﬁ TR fgvm ‘JﬁEI__ 75, Preparation of research report in case of

yftde fafy & ... e BEA B marketing research ‘is the
| s _ N - step of marketing research process.
(&) W - (A) First
® ¥ | (®) Middle
@ AR © Last

e i T | - (D) Allofthe above

76. Sy fvig oF @ Hied A -
C Hrsel L QT W] 76.  Second stage in the consumer decision”

____________________________ = | : making model is

(A smaEE (A) Need

(B) gm o (B) Information/Search

© Bl JeU1H (C) Evaluation of alternatives

D) Eﬁa D) Purchase

C010805T '
_ (24) ' set-D

ST e e




77. aﬂqpmmsﬂq' """"""" “Wﬁlmﬁl

78.

80.

Cotosost

(A) G WY D

®) [t ae @

© @ (A) IR @)

D) THE d | PIE Tl

ges vEe @ o wed @ aftw

g 2|

(A) BT

B) ¥U<

(C) =

(D) wE=

GURY WA faverr
aifwer fargerywr fafdl 2 |
(A) T@d W

®) few

(€) wN

(D) Suga

dre X @ aEE © fog om-e R

i ofud 8 7
(A) TR e
(B) e

(C) ¥Eas
(D) ®I™® Ay

(25)

Vi

78.

79.

80,

)

@

resecarch comes under

Descriptive

(A) Exploratory Research
(B) Cnﬁclusivc Research
(C) Both (A)and (B)

(D) None af the above

The consumer is’ when actual
performance  exceeds the expected
performance of product.

(A) Happily

(B) Satisfied

(C) Dissatisfied

(D) Delighted

Simple regression analysis is
data analysis techniques.

(A) Univariate

(B) Bivariate

(C) Multivariate

D) All of the above

Which method is most appropriate to
study the average rate ? '

Geometric mean
(B) Median

(C) Mode

Harmonic mean



al.

82,

83.

Co108086T

wen-fen aqd a=t & o faels whan

) 7 G ) wlE U s i

AT i B

(A) whill

®) ffus

(C) HIeD

(D) T W

e 3 9 a o 2
@1 AT AR ol 7 7

(A) FE B i

(B) Tha P

(C) v

(D) Thadt B A9 E

gt ¥ anrens we w1 ad @

(A) Hﬁﬁﬁ?ﬁm‘fa%ﬁa’fﬁw@
N T%

(B) W SR & a1 & wrladi ¥ qp

LR

(C) U TR & 91 & oigar 9
B T T

(D) Sygam it

(26)

#l.

42.

83.

frr their children, This
I the

Paretits sy 1rys

st 1e comsidered 48

byfing preaess.

(h) Buyer
(8) Decider

(C) Mairtainer

(1) Al of the abave

Which of the following is net an extearal
criteria of appropriate resezrch problem 7
(A) Novelty of Problem

(B) Research personnel

(C) Feasibilities

(D) Researcher’s own source

Indirect question in schedule implies :

(A) Question are not asked from frisnds
of respondent

(B) Question are asked from relatives
of respondent

of respondent

(D) All of the above



g4, RNUHE W T TV

(@) ST ¥

§5. 9 TR @ S@RT § ST & foy
e ST & W g B S W R, @

T o D BT H A W B
(A) T BT 2GR

(B) AR Hal AR

(C) STHIET Hal AR

@) fedas war TaER |

86. ﬁwﬁmﬁﬁﬁmﬁmﬁﬁf .'Sl?-

. & AW | A S 7
(4) Sedi gt

®) g e
©) 3wy freeH

®) Sww A | P T

C010805T

(27)

Organisation of * marketing research

functions is influenced by

(A) Size of the firm

(B) Nature cfthebusiness.

© Complexi.ty of the research
activities - |

(D) All of the above

When goods are purchased for use in'thc

production of products that are sold to

others is known as

(A) Individual Buyer B:haviour

(B) Businessman Buyer Behaviour
(C) Consumer Buyer Behaviour

(l)_) Secondary Buyer Behaviour

Which of the following is kmown as

" Accidental Sampling ?

(A) Purposive Sampling
(B) Convenience Sampling
(C©) Quota Sampling

(D) None of the above

Set-D




47, T T T 5T TIEE T o g7 s displayed by a person

while buying milk.

wzffa e = 2|

(A) TITEE Fa% ATer (A) Selective Buying Behaviour

(B) Frrfaa 77 waen (B) Routinized Buying Behaviour

(C) 7% 9% TaEN (C) Extensive Buying Behaviour

(D) FE T T TR () Credence Buying Behaviour
g8, fA7em % A1 AA Hed BT B 7 98. Which is the next step after analysis ?

(A) Hra (A) Summary

B) fmm (B) Conclusion

(©) e | , (C) Interpretation

) T (D) Suggestion
%9, A0 MT i | U BT £ 289. Marketing research  begins  with

(A) Uiz afamer (A) Design of the sample

(B) @el A % fafy (B) Design of the data collection

(C) Fwean &1 fasmor (C) Problem formulation

(D) Jwa & % w1 T (D) None of the above
90. frefafun % 4 fimwr Profg fresfs #er 90 Which of the following is called

G Judgment sampling ? '

(A) fafaraas e (A) Systematic Sampling

1) iy freda (B) Quota Sampling

(C) '{iﬂﬂfﬂ'ﬂiﬁ freds (C) Convenience Sampling

(D) it | I‘ii I (D) Pumosive Sampling
coi0so8T

(28) Set-D




ness — Interest — Evaluation =

SITEEA —> oY > Teied —» @ERm 91 Aware

- e B Trial - Adoption is :

(A) AIDA Wigd | (A) AIDA Model

(B) AR AP HSd @®) Innovation-adoption model
(C) ufe-wHE Hied (C) Close-effect model

() TwE § ¥ B T . (D) None of the above

is the study of how

individuals, groups and organisations
select, buy, use, dispose of goods to

I B W FE @ fay aegal
satisfy their needs and wants.
1 Ta. @, SEEn o fwed @ '
gl
(A) WTEATS ATER ' (A) Organisational Behaviour
(B)_ ITIFT S9ER (B) Consumer Behaviour
(C) WUR WIER _ (C) Business Behaviour
(D}‘ qEN fareE (D) Behavioural Segmentation
igTﬂ TAOTAT s 2 aﬁaﬁa 93. Multiple regression is : data
fvengor fafer Zl analysis techniques.
(A)  T@d W . (A) Univariate
®) f&m (B) Bivariate
(C) MR (C) Multivariate
©) e | (D) All of the above

C010805T a5 | o
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95.

96.

.C010805T

AR SR ® T F . @
wtwfor w81 foam o 21

(A) arf fag=

(B) AN &

(C) WERY AT

() & I | I T
@ W R TaRE aumEe § el
& T 2 N T WA RRR

T oW 8, W 9% 9 W
2 smfaRer ¥ @ fow T @0 O
W & ?

(A) @ W

(B) T W

© I|@WIR®

@) ST i ¥ D

e Y, areEA, dieae v fwE
st o ¥ |

() 3

®) WH-gER

(C) W

©) TR

(30)

94.

95.

96. .

Research on distribution policies does not
include ;
(A) Material control

(B) Transport cost

(C) Storage cost

(D). None of the above

One variable -that is manipulated in an
experimental study and its effect on

another variable is measured. The latter is

known as :

(A) Independent Variable -
(B) Dependent Variable

(C) Both (A)and (B)

" (D) None of the above |

. Soft drinks, ice-creams, chocolates and

biscuits are products that fall under
buy category.

(A) impulsive

(B) deliberate

(C) convective

(D) corrective -

Set-D




et AR gRey  On 'Which of te: Bllowhny e e

97, ﬁqﬁ.{‘f@'ﬂ 3« . multiple analysis techniques ?
AR E?
- (A) Factor analysis
A fase
(A) (B) Correlation analysis
) W
(B @ it . (C) Cluster group analysis
(€) :
#h () All of the above
(12)) aq§ w

_ Which of the following is not a

E P ; \ i probability sampling ?
) e e (A) Normal Sampling '
@) R (B) Systematic Sampling
(© Frfa fieE (€ Judgement Sampling
(D) ia'l;'gﬂﬁ i 9 ﬁﬂ'ﬁf T8l (D) None of the above

99, faqUr ity g Bl 4 99. Marketing research helps in :
(A) Identification of problem
(B) Solution of problem

() Both (A)and (B)

© @ (a) IR B)
@) 9w A |/ FIE 8l (D) None of the above
100, oo o T aderd Fw w100, < where consumers look for
e # cil A Tay 7@ £ quality in brands when shoping.
(A) W WrTed el ' (A) Brand conscious style
B) T @ e (B) Novelty oriented style
C
() ol S delt (C) Quality oriented style
(D) =
o el (D) Pleasure oriented style

Co10805T .
(31) e set-D
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El‘.’[ﬂfﬂﬂﬂﬂl A,

Renrennpe e Tollowing ey

recritment

(1)  Searching
(1)
(111)
(V)
V)

Codles :

Pyaluation and control
Planning
Screening

Stratepy development

(A) NLILL VIV
O ANVAL
© IV, V1L L
(D) 1,11V, V, 1

What is the main objective of the
recruitment and selection process ?

(A) Recruit the right candidates

(B) Mecet the high labour turnover

(C) To reduce the costs of recruiting

(D) Nmu; of the above

................ is the process of forccasting an
organisafions  future demand  for, and
supply of, the right type of people in the
right number.

(A) Tuman Resource PManning

(B) Reervitments

(C)  Human Resource Management
(D) Human Capital Management

Sot-B
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S

R R

Which of the following options is not the

factor that hinders with the human

resource planning process ?

(A) Type and quality of forecasting

information

Time honizons

(B)
Environmental uncertainties

©

(D) Unite the perspectives of line and

staff managers

s 18 the major issue faced while

doing personal plﬁnning.

(A) Type of information which should

be used in making forecasts

(B) Types of people to be hired

(C) Multiple positions to be filled

(D) All of the above

Set-B




o, wFA wamd fAaeE yfpar # wifi@ 9. Rearrange the following steps inyoy,. 4
in

feffim Wl @ SR A e Human Resoure Prnng o,
proper order. -
g’lﬂiﬁ'@ﬁ DIfY :
(a) T4 3R wrfeT | (a) HR Programming
(b) T4 AR wf q\ﬂi‘:ﬁﬁ ' (b) HR demand forecast
(©) qﬂh’\’"T T | (c) .Environmental Scanning
(d) HRIHA BT FEAT 3R P (d) Control and evaluation of
| ' progamme
() Ry wfefera wdl . (¢) Surplus-restricted hiring
® AR PRI | - HRP implementation
(g0 T4 AR HTELﬁ'[ q\ﬂf‘:{qﬁ o (g) f HR supply forecast
(h) WIS Seed 3R el (h) Organisational ~ objectives  and
' : = = policies :
G) @ SR W () Shortage-Recruitments  and
¢ ' | - Selection
e "Codes :
(A) abcdefghi | - (A) abcdefghi
B) chbgafdei . - (B) chbgafdei
(C) ihdebcafg ' (C) ihdebcafg
(@) ihgfedcba - ' (D) ihgfedcba
- 10, Ad ¥ e Faar R RmeRal & 10. The process of identifying the duties and
qﬁﬂ:{ O B ulkar @& aTﬁ?_rl far | . responsibilities related to 2 job s
classifiedas:
T R | |
(A) A5 fafder (A) job specif:lcation
(B) AH H1 faawor (B) job description
©) o fawm (C) job analysis
(D) i sferan (D) jobmobility
. set-B
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14.

15.

16.

17.

Wmﬂﬂﬁﬁwﬁﬂﬂ
(A) b fafer

B) wrge e fafer

(C) &R g fafer

- @) TE @) IR (©)

O el e T & -
A) YT R

®) w@rEe W R

(C) &RE qor faf

®) T A I

fdt 1 @ aR § ommgT T IR I
Ueha DA DI UBHAT e 6

(A) VIR

B) TH B SR

(©) i faeemm

© 7 e

A0 @ faw @ Yo fawer @ R
3geq Wit B 8 |
(A) Y & Md, @i R Feda

(B) W, SUB 3R IuSH
(c) wrEfll, M o 31 Refe 3 @®

(@) i@ o

CO10806T

(8)

14. Quantitative job evaluation method

15.

16.

17.

(A) Ranking method
'(B} Point rating method
(C) Factor comparison method

(D) Both (B) and (C)

Qualitative job evaluation method 2res :
(A) Ranking method
(B) Point rating method
(C) Factor comparison method
(D) None of the above
_Process of studying and collecting
information about a job is known as :
(A) HRP
| (B) Job design
(C) Job analysis
(D) Job evaluation

Job description is a statement cont2innZ

items like :

(A) Job title, location and duties
(B)

(©)

Machines, tools and equipment
Materials, working conditions 254
hazards.

1.(D) All of these






21.

22.

23.

CO10B0ET
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@) Refa
(€) waa
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e T A
(A) g

®) HEa

© ffa

®) SogR Wi

o P T e 2
(A).mﬂiﬁmﬂm
B) @D AAIN
© 2 (A) IR B)
@) S ¥ B T

(10)

21,

22,

23,

A renmeneceens 18 2 "Collectio
— N of |
l".'k‘ ai‘llj'
responsibilitics regularly assigned
ﬁ.nr_

persons.”
(A) job
(B) position
(C) duty

(D) None of the above

Analysis is a process when

................. arc made about data collected

(A) payments
(B) judgements
(C) decisions

(D) All of the above _

Job Description provides :

(A) organizational information
(B) functional information
(C) Both (A)and (B)

(D) - None of the above

sat-B






29.

30.

CO010806T
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(A) TEERE AT

(B) HH fawy

(C) i
(D) wipa fageryo

(12)

28,

29.

30.

Job Analysis process is :
(A) Mostly informal
(B) Specialized

(C) Highly formal

(D) Mostly technical

Why is job analysis so infused wit

' organizational politics ? Is it :

(A) The process which could lead to
contraction of employees in g
department and therefore

diminishing its power base.

(B) A result of interdepartmental
r'ivalry. -
(C) Because it is not an objective

activity.

(D) The which

companies try to shed labour.

process  through

Reasonable balance between demand and

supply of labor is necessary in :
(A) Manpower planning

(B) Job Description
(C) Recruitment

(D) Job Analysis

Set-B






34 . : 5 oy S 34, Method of data collection to back up

I

36.
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35.

36.

forecast of personnel needs ..............

(A) Intrusion Prevention System (Ipg)

(B) Intrusion Detection Preventjg,

System (IDPS)

(C) Patent Electronic Syste m

Verification (PAIR)

(D) Human Resource Informatioy

System (HRIS)

is the application form to be

-----------------

filled by the candidate when he goes for

recruitment process in the organisation,

(A) Job application
(B). Formal application
(C) Application blank

(D) None of the above

is a selection test which

ggggggggggggggggg

judges the emotional ability which will

help to judge work in group.

(A) Personality test
(B) Intelligence Test
(C) Mental Ability Test

(D) None of the above

Set-B
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That which adds more of the same type of

duties requiring same skills is :

(A)  Job progression

. (B)' Job enrichment

(C) Job enlargement

(D) Job relatedness

Intelligence and memory of a person
constitute ............... characteristics.
(A) Psychological

(B) Physical

(C) Mental

(D) Personal

The wuse .of process criteria in job

selection means that the individual is

being assessed on ................... ‘

(A) The number of tasks they can

process simultaneously

(B) A methodological approach to task
completion

(C) How many tasks can be processed

in a set amount of time

(D) The right way to complete a task
successfully

Set-B
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40. Which of the following is a Stateg

41.

. 42,

\

outcome of ‘Job Analysis” ?

(A) Job description
(B) Job specification
(C) Job evaluation

(D) All of the given options

The workflow detailed picture is called :
(A) Organization chart

(B) Process chart

(C) Process management

(D) Production unit

The loss of customer contacts, the break-

in time of employees and unfamiliarity

with products of organization are

classified as -

(A) separation costs
(B)  productivity costs
(C) training costs

(D) hil'ing COsts

Set-B



44,

45.

uﬂmwm‘rmﬁqmﬁmwg;

(A)  PATIRY TR B Y §
(B) SEEHAT T B WY #
(C) WRwwr ara d vy

(D) ¥l AT B B A

wfda sroi @ AR ¥ get @ g
et F fory wE @ R @y 9)
£ 3 w7 catR @ w9 o ifpa @ €

(A) IR IR ART@R
(B) . ®IFiaRo] GREhR

(C) It WIEhR
(D) ETHIR ¥ AR [perT

(17)

Cotos06T

45.

- The exit interview time, the expenses of

uncmployment and legal fees of

challenged separations are classified as :

(A)
(B)
(©)
(D)

training costs
hiring costs
separation costs

productivity costs

- The recruiting expense, relocation costs

and employment testing costs are

classified as

(A) separation costs
(B) productivity costs
(C) training costs

(D) hiring costs

The kind of interviews taken place in
organizations to ask about possible
reasons leads to job turnover are
classified as :

(A) employee firing interviews

(B) transfer interviews

©

(D) exit interviews

termination interviews

Set-B
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46.

47.

48.

The number of employees “Pﬂmlltm
during a specific period is divided by
number of employees at midmonth and g
multiplied to 100, is used to calculate

(A) absentecism rate
(B) satisfaction rate
{C}I turnover rate

(D) employment rate

The network in the company that allows
company’s employees to have access t,

all the information given by some
external entities is classified as :

(A) wide area network

(B) extranet

(C) intranet

(D) geographic area network

The system which is designed to provide

useful  information  while making
decisions regarding human resource of an

~ Organization is classified as -

(A) benefit analysis system

(B)  human resource information system
(C) decisional information system

(D) integration HR |

Set-B



The network which iS a part of
organization and operates through the

| . _
i 40, e;za%m’t#maﬂi%m%ms‘a:\z 49.
r a%qmﬁﬂmfaaﬁm%,-*-—-q‘;m

i ﬂ"ﬁ?ﬂ ferar <ar 2l internet is classified ag -
(A) dES URAT Jead (A) wide area network
(B) m (B) extranet

© EHe (C) intranet

@) s & Jeaq

(D) ' geographic area network
50. WTH @ U e SR AT, 9o, 0. The five key factors of PM : schedule,

ol He, Wfaw sk WAR T iHT budget, open issues, risks, and
T WY & N R wimar ¥ communication are assessed during the
................................... phase.

(A) TRaISET S wwor (A) project initiation phase

®) RS e TR - (B) project execution phase

(C) ¥iige W-WE iy (C) project close-out phase

(D) RIS Ao gvor (D) project planning phase

51, fofy wwefs SUTTEr L 51. Decision support systems :

(A) f9gi &1 98 ¥ 2 M W A (A) is the set of topics on which the
T GGkl HoTeR EIRCI R GE | human resource information system
Eﬁfﬁ ¥ 3R Y collects and maintains information.

(B) Eq?h‘TﬁﬁEﬁ’ @ @ ‘3"-‘5 qﬁgw (B) enables users to develop what if
feafera & § wem a2 e

(C) 'MVFAT 3R TvFET A waEE ol (C) computations and calculations used
iR muRi @ e 6 to review and document human

i resources decisions and practices
TEAaue @ fog SwE @t
§ .
@) el W YoM & T aEeN @ (D) systems that recommend actions the
: . information provided
WP aell FRagdl @ Sw
Pl & -

CotososT (19) Set-B
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53.

54.

V3R 3L, Sugireaf & -
A) T SR Rt
B) Tae Py

©) Fa Rgufars

D) S % R} B 74y

(A) 1970
(B) 1971
©) 1972

(D) 1973

co10s06T

(20)

52,

33.

54,

HRIS users are :

(A}‘ employees and “““'““Ploms
(B) employees only
(C) non-employees only

(D) none of the above

Which method of Human Rmmq
Accounting states that only scarce Peog
should comprise the valye of humq

resources ?

(A) Replacement Cost Method
(B) Historical Cost Method
(C) Oppurtunity Cost Method

(D) Economic Valye Method

The Lev and Schwartz model of Huma
Resource Accounting was developed i

the year ?

(A) 1970
(B) 1971
©) 1972

D) 1973
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35,

56.

7.

Which model of Human Resource

Acc i

ounting suggests that the valuation of
human resources should be made in the
Same way as other business assets on a

going concern basis ?

(A) Morse Net Benefit Model

(B) Eric Flamholtz Model

(C) Hekimian and Jone’s

(D) Giles and Robinson’s Model

The Historical Cost Approach of Human
Resource Accounting is given by :

(A) Brummet, Flamholtz and Pyle

(B) Giles and Robinson

(C) Hekimian and Jones

(D) Roger H. Hermanson

Certainty Equivalent Net Benefits model

of Human Resource Accounting is given

by :
(A) M. Scott Myers
(B) Pekin Organ

(C) VincentS. Flowers

©) R.Lee Brumment

Set-B



. Hekiaman and Jones competitive l:ni.;t.;;;“E

model is élsa known as :

iteq — @ w0 A Ay g - -
J(A) Opportunity Cost Method

SR fafer
(A} HFTH ﬁﬂ (B) R:plﬂﬂmﬂﬂt Cost Method
yferen= @
(B) AR (C) Historical Cost Method
Yefie arrd
© RfY (D) Economic Value Method
D) s I
59. Which of the following is Wrongly
i § | @ W e AE o
o matched 7
TR ? |
. (A) Human Asset Multiplier Method
waft fafy — vged
oY i Giles and Robinson
3R A~
® el T e AR — (B) Un-lpurchased Goodwill Method —
- i ' ' Roger H. Hermanson
(€ RS Rareq  Jequed e (C) Stochastic Rewards Valuation
e Model — N. Dasgupta
(D) T oM ghear — @ @ (D) Aggregate Payment Approach —
Twadl S. K. Chakraborty

60. f&e W7o & AT WaEAl & qeUidw  60. The first Indian professor to suggest 4

+ fv @ dted @ SEE A T T model for valuation of human resources
e of an organisation is :
(A) W IR dem (A) Prof. R. Pandagre
(B) W TH. B, Thad] (B) Prof S.K Chakraborty
© . t"f-“m. CC (C) Prof. T.L. Verma
(D) . T v " (D) Prof. Vasanthi Srinivasan
CO10B068T

(22) get-B



Gl,wmaﬁm-%ﬁr

62.

63.

64.

Co10806T

"

gﬁh@ﬁﬂﬁfaﬁ"\'m@ﬁuma#aquq
W@ﬁﬂfﬁﬁmﬁ’_ﬂ?ﬂ‘iﬁ%?
(a) TR¥a wHee dige

©) WoRew Ra deqgem Hiag

Wﬁﬂﬁﬂfﬂﬂ#%ﬁwwmam
A HET OIar 2 | -
(A) ARRRTTT AT gRewiy
®) RS @ gRegp

(©) TR WM gfepi

©) ST A

................. fosl ST 4 A W g
aﬂ#sﬁwwwaﬂ#aﬂmﬁl

(A) HF9 §OrHE e
(B) HMY WAEA RPN
(C) ¥Fq |~ uftar
(D) AT WA Sders

Frifeifes 3 ¥ frw o & At o
T W A B o dr @ @

I fshar enfier £ ?
(A) M9 GO G
®) uRsfw

©) ot

(D) 9T w

(23)

61.

62.

63.

64.

Fixing the value of gp employee

depending upon  hijg productivity,
pror‘notabxhty, trausferability and
retamabilit_y is the core of the :

(A) Certainty equivalent mode]
(B Human asset multiplier mode]

(C)  Present value of future earnings
model |

(D) Stochastic Reward Valuation model

When the cost incurred on recruiting,
training and developing the employees is
considered for determining the value of
employees, it is called -

' (A) The replacement cost approach

(B) The historical cost approach
(C) The Opportunity cost approach

‘ (D) None of the above

........ ... is the process of acquiring and
utilising  human resource in an
organization.

(A) Human resource planning
= (B) Human resource development

(C) Human resource process

(D) Human resource management

‘Which of the following term comprises
~ the processes of attracting, screening, and

selecting qualified people for a job in an
organisation or firm ? _

(A) Human Resource Planning
(B) Remuneration

(C) Recruitment

(D) On boarding

Set-B
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65.

66.

67.

68.

The Training of Employees d
is called :

uﬁng a juh
(A) onthejob Training

(B) offthe job Training

(C) job instruction Training

(D) None of the above

................ refers to the workforce iy the
organization and are a relatively Modep,

management term, coined in the 19605,

(A) Human requirements
(B) Human resources
(C) Human relations

D) Scientific management

................ aim is the overall developmen
of employees, ﬁlereby helping the

organisation achieves its goals.

(A) Training and development
(B) Training

(C) ‘Development

(D) Recruiting

Which of the following is one of fi¢
components of HRD audit ? '

- (A) Policies of Human Resource

(B) « Organisation of Human Resource
(C) Administration of Human Resmll‘f‘-
(D) Organization and Administration o

setd
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71.
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©
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70.

71.

The process for purging records

The way of Maintaining employee
timesheets

(C) The type of HRIS system used
(D)

The place at which various notices
are posted

..................... iqdicates the desired course

of action planned by an organization to

achieve HRD goals or HRD outcomes,

(A) HRM strategy
(B) HRD strategy
(C) HR strategy
D)

Communication strategy

Information is managed in the business
unit through ......... of various records of

the employees and factors related to

‘ them_.

(A) Training
(B) Performance evaluation
(C) Performarice management

(D) Documentation

Set-B
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73,

74.

................. team is any outside Consultay,

firm which provides HR aygjy Solutiop,
5

to the organisation requiring i

(A) External audit
(B) Internal audit
(C) Audit

(D) HRD team

................. gives an account of the skills,

abilities and limitation of its employees,

(A) Human Resource
(B) Human Resource Department

(C) Human resource audits
(D) Human resource management

Which of the following methods helps

auditors to evaluate the workplace and

work atmosphere ?

(A)  Interview method
(B) Observation method
()  Group discussions

(D)  Workshops

sat-8
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76.

77.

Talent management is a process that

involves :
(A) attracting and retaining high-quality

employees

(B) developing their skills

(C) continuously motivating them to

improve their performance.

(D) All of the above

T alént Managementisa:

(A) Constant Process

(B) Planned Process

(Cj Retrospecﬁ\;e Process

(D) None of the above

The [:;rimar}' focus of Talent Management
is to create :

(A) A support for organisation strategy
(B) .Smisfied work forcc. '

(€) Motivated work Force

(D) Matching model for organisation

strafegy

Set-B



78, wiem waem ve wrfaw R @ forg 78. Talent Management focus to create g

workforce who will :

BldHd Tl & ¢

(A) t’a‘f TR @ W Aot e (A ‘Compete with sach stiss
®) e @ IRF F B _ (B) Work beyond expectation
(C) ¥ ¥ o (C) Gain knowledge

(D) w4 W @ W6 A a9 W (D) Stay in the organisation for the long

79. § TEIE Fen ol e 2 5 R 79. It is not enough to expect that just

R 5 ——— a1y d&c B P v because ................. you are managing
talent.

w® gl |

(A) D U qT e T 2 | . (A) You havelan HR department

(B) 3D U I IHANS & . .(B} You have good employees

(C) 3V 3BT T 34 & | (C) You pay good compensation

(D. I wﬁ{ WaF & ' (D) Your culture is supportive

80. UG YN Dad DI B & fow ~ 80. You need to have a talént management
feorzT @ ¥ @ wfen weEe Ui strategy in place designed just for your

Ay e company :
(A) TR Bt SHfd v & Ry (A) Attract Employees

(B) =T IR 51 FR B fayg (B) to gain optimal results

(©) Wi o o ae Ry ~ (C) - Gain Competitive advantages

D) Wmﬁﬁﬁ?f@m (D) Increase Morale

CO010806T
= (28) | Set-B
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82.

83.

- [ﬁﬁﬁq-méﬁtﬂﬁaﬁam

e T € 7

- 2R @ WGE A GG BN @
@ S A

() csaR Her

o @ B T T S Ry e

e B

wftvar wae Hiee # frefeRen F o
Al 7

(A) HHEI

(B) AT &
(C) 3Hf BT

D) faveryo

wfeer e wipan frefafad F @ fae
W WA B & ?

(A) IR & foru wwrifer

We¥T Telid qae
SRR 9 Qo

Ffe =1 & amer @
T B Savear &

(B)
()
(D)

cn
O80sT (29)

81.

82.

83.

Which among the following is not an

importance of Talent Management?

(A) helps in business performance
(B) Enhance Production capacity
(C) Decrease tumover

(D) Motivates others to perform

Talent Management Model doesn’t

include which of the following ?

(A)

Transitioning
(B) Retaining
{C}J Attracting
(D) Analyzing

'I'alént Management process ends with
which of the following ?

(A)
(B)
©

(D)

Strategy for retention
Hold performance appraisal
Plan for succession

Specify what skills you need



85.

86.

e AR AR § - @ R
PRI e i #

@) wRe fre

®) Hﬁww

©) mﬂmm'

D) T

T W b R wd e

ﬁmmarﬁ?ﬁwm%p
(A) T Rerfy
®) e 3 Refy
© T3 @) ok 7 #& (g
@) (&) 3R B) A

C010806T

(30)

| 85.

86.

The components of Integrated Talep,

Manage'merit Model are :

(A) Assess, Acquire, Deploy, Develgp

(B) Assess, Acquire, Deploy, Develop,

Evaluate

(C) Assess, Acquire, Develop

- (D) Assess, Acquire, Estimate, Deploy,

Develop, Evaluate

Spéciﬁc HR . strategy doesn't include

strategies for :

(A) Strategic Fit

(B) Talent Management

" (C) Succession Planning

(D) Reward

‘Talent Management is analyzing the right

talent gaps for the -

(A) Current condition |
(B) Future condition
(C). Neither (A) nor B)

M) Both (4) & (B)

Set-B



88.

89.

90.

87.

(31).

®

(T Y
-----------------

Sliccession Planning
Performance Management |

Compepsanon Management

(D)  All of the above

Showing employees their performance
graphs " and quantitative data: is an
example of : '

performance feedback
(B)
©).
(D) appraisal feedback

performance appraisal

appraisal system

The ‘total quality management’ is an

example of :

(A) human process intervention

" (B) techno structural interventions

(C) strategic intervention
(D) HRM interventions

set-B
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92,

93.

94,

CO10806T

v wey Puffa & 4 & &1 aef 2 :

A) W

B) Hf¥we
(C) uneH et

D) 4 B A
afee wee e g g8 ufbar # wRiad
HRHTT e~ Y 3R e 2|

(A) SWIRER & GFr a1
®) R yhgs

(C) ¥R yau woreft

D) §

WX goar AR Fiewar e g
wefdfa @t it & ?

(A) W9 HeTEHR

(B) W Haerw

© TG HaH

(D) ¥R ey

e whaRet 3 Ry 7w st o
R S B N ey &)
(A) Wafga @ & v

®) TG B ey

©) Wafighr opy

(D) W yees

(32)

In setting SMART goals, ‘T standg for.
(A) Timely

(B) Tricky

(C) Transparent policies

(D) None of the above

In the talent management end ¢q eng
process, the workforce compensatiy,

management leads to :

‘(A) succession planning

(B) performance management

(C) learning management systems

(D) e-recruiting

Professional competence and consistency
is exhibited by :

(A) effective mentors

(B) performance manager

(C) appraisal manager

- (D) professional training

Modifying selection procedures for senior
employees is a step towards :

(A) keeping retirees

(B) keeping employees

(C) retirement benefits

(D) talent management

Set-B



96.

e Rl TT T L. T EEREIA &

97,

C010805T
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rpfia a9 B, ARET S AR
meﬁﬁnﬁmmﬁ%:

(A) mw
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(C) yfoT WeuH
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99 A ©
(B) W& w7 ¥ Y I IMWFE ™

A58 oMl @ GEm @ P

e TU9 WHAT D Whedl
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D) T | FIs i 7

(33)

95.

96.

97.

The process of attracting, selecting,
training and promoting employees

through a particular firm is called
(A) phased retirement
(B) preretitement counseling

(C) talent management

(D) modifying selection procedure

In the talent management end to end
process, the workforce and succession

planning leads to :

(A) compensation management
(B) performance management
(C) learning management systems

(D) e-recruiting

Which of these is the purpose of

recruitment ?

(A) Make sure that there is match
between cost and benefit

(B) Help increase the success rate of
the selection process by reducing
the number of visibly under

qualified or overqualified job
applicants.

(C) Help the firm create more culturally

diverse workforce

(D) None of the above

Set-B



99.
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100.
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98.

99.

100.

o

The poor quality of selection Will meqy,

extra coston ............. .. and supervisign

(A) Training
(B) Recruitment
(©) Work quality

(D) None of the above

Which of these is the most importan

external factor governing recruitments 9

(A) . Sons of soil B

®)

Labour market

(C) Unemployment rate

Supply and demand

While recruiting for non-managerial;
supervisory  and middle-management
positions ' which external factor is of

prime importance ?

(A) Political - Legal -

(B) Unemployment rate

(C) Labour market

(D) Growth and Expansion



